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[A-4]  SARDAR PATEL UNIVERSITY
B.Com{CBCS){Third Semaster)Examination
Saturday, 25th Nov.,2017. (2ob- ey
10.00 a.m. to 12.00 a.m.
Fundamental of Financial Management (UB03CCOMO01/10)
NOTES- 1. Figures to the right indicate full marks of each question.
2. Answer should be precise and to the point.

1{a) What do you understand by financial management ? Explain briefly
Scope of Financial Management.
(b) Write Note on: "Role and Responsibility of Financial Executives".
OR
1{a) What is profit maximization ? In what way is the wealth maximization
objective superior to the profit maximization objective. Explain .
(b) What do you mean by Indian Financial System ? Briefly explain
meaning of Money Market and Capital Market.

2(a) What is financial Planning ? Explain the Features of sound Financial
plan.
(b) Evaluate the preference shares and equity shares as source of finance
of a company. '
OR
2(a) Give the meaning of financial planning and explain the factors which
are affecting the financial planning.
(b) Write short Notes on:
1. Trade Credit 2.Bank Finance

3(a) What is under-capitalization? Explain causes and effects of Under
Capitalization.
(b) Write short notes on:
1. Meaning of Over Capitalization 2. Features of Capital Structure
OR
3{a) ay lid. has currently an equity share capital of Rs.12,50,000 consisting
of 1,25,000 equity shares of Rs.10 each. The Company is planning to raise
another Rs.10,00,000 to finance a New Plant from the following:
1. Entirely by Equity Shares.
2. Rs.5,00,000 by Equity Shares and Rs.5,00,000 by issuing 12%
Debentures.
3.Rs.2,50,000 by Equity Shares and Rs.7,50,000 by 11% Debentures.
4. Rs,5,00,000 by Equity Shares and Rs.5,00,000 by 14% Preference
Shares.
The Company's expected Earnings Before Interest and Tax(EBIT) will be
Rs.5,00,000. The income Tax rate is 50%.
Calculate Earnings Per Share in each alternative. Which alternative is
most suitable to the Company?
(b} Write note on: "Factors influencing Capital Structure”.

C PDT" Oa)




2

4 Smark Ltd. is considering investing in a new Plant costing Rs.35,00,000. i5
Forecasted annual income before depreciation and tax is as below.
' Year income (Rs.)
1 25,00,000
2 25,00,000
3 20,00,000
4 20,00,000
5 10,00,000

Depreciation may be taken as 20% on original cost of the Plant and tax is
50% of net income. The cost of capital of the company is 10%.
You are required to evaluate the project according to each of the
foliowing method.

(i) Pay back period.

{if} Accounting Rate of Return.

{iii) Net present value method.

(iv) Profitability index.

OR
4 Explain the following:
1. Significance of capital Budgeting. 5
2. Process of Capital Budgeting 5
3. Time Value of Money. . 5
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SARDAR PATEL UNIVERSITY
B. Com. (XXX Semester) Examination
Tuesday, 28" November 2017
10.00 am - 12.00 pm
UB03CCOMO2 - Fundamentals of Cost Accounting

Total Marks : 60
Note : Figures to the right indicate full marks.

(A) Define Cost Accounting. Explaln advantages of Cost Accountlng (08)

(B) Describe : (1) Element of Cost RERE (03)
(2) Cost centre and cost Unit S (04)

OR. _ o

Q.1 N i T

(A) Discuss : Costing Accounting and Financial Accounting. R (08)

(B) Write Short Note : Essentials for sound system of cost Accounting. (07)

Q.2 e

(A)" From the following information calculate . ) ' ' (10)

(1} Re-order Stock Level
(2) Minimum Stock Level
{3) Maximum Stock Level
(4) - Average Stock Level =
(5) Danger Stock Level

Informations :

(1) Maximum delivery period 60 days.

(2) Average delivery period 45 days

(3) Minimum delivery period 30 days.

(4) Maximum delivery period for emergency purchase 6 days.
(5) Maximum rate of consumption per day 45 Units

(6) Average rate of consumption per day 35 Units.

(7} Minimum rate of Consumption per day 25 Units.

(8) Ordering Quantity 900 Units.

(B) What are the remedies of Labour turnover rate ? Discuss. . - - (05)
OR
(A) Mr. Shryas has taken 25 hours to comp!ete a job. The wage rate per (10)

hour is 30 Rs. If he has received 1000 Rs. as total wages according to
Rowan Plan, What would bethe: amount of wages earned by him
accordmg to Halsey plan and piece wage plan and Time wage plan? -

(B) Explam Types of Materials. - o | (05)

SQM




Q.3 SK Engineering Ltd. has three production departments A, B and C and (15)
two service departments X and Y. The followmg flgures are extracted
from the record of the company o

: Rs.
Rent & Rates 5000
General Ligutings 1 600
Indirect Wages ' 1500
Power 1500 |
Depreciation of Machinery | 10000
Sundries 10000
The following further details are available: g
Particulars A B. C X | Y
Floor Space (Sq. ft.) 2000 | 2500 3000 | 2000] 500
Light paints 0. 15 .20 10 2
Direct wages (Rs.} 3000 2000 3000 | 1500 500
H.P. of Machines 60 30 50 10 -
Value of Machines (Rs.) | 60000 | 80000 | 100000 | -5000 | 5000
Working Hours | 6226 4028 4066 ~ -
The expenses of X and Y are alloted as follows:
Departments A B C X. Y »
X 20% 30% 40% -1 10%
Y 40% 20% 30% 10% -

What is total cost of an article if its raw material cost is Rs. 50, Lébour
cost Rs. 30 and it passes through departments A, B and C for 2, 4 and 3
hours respectively.

OR .

Q.3 The following expenses have been received in respect of factory hav:ng (15)
4 machine of the same type.

Particuilars S Exp. per
_ Annum Rs.
Rent and Taxes ) L : 12000
' Lighting of Factory ' - 820
Repairs expenses 1180
Supervision expense i ' 12860 -

Attendance Salary (2 attendance Iookmg after 4
machine paid Rs. 600 per month each)

Power expense (10 paisa per Unit) 4800
Each machine consume 10 Unit of Power per Unit | - a
| Depreciation per-machine : ' . 600
| Hire purchase -installment for the machines| 1600
{(including Rs. 400 interest) e :
Sundry expenses for the factory 420

Calculate the machine hour rate.



Q.4 M.K. Manufacturing Company manufactured and sold 500 T.V. Set in
the Year 2015. The Summarised Trading and profit and Loss Account

Q.4

for the year 2016 is as under.

Partiguiars Rs. Particulars | Rs. .
To Cost of Materials 320000 | By Sales 1600000
To Direct Wages 480000 '
To Manufacturing charges 200000
Gross profit 600000 .
1600000 1600000
To Management staff Salary 240000 | By Gross Profit 600000
To Rent, Rate and Insurance 40000 | IRl IR
To General expenses 80000
To Selling expenses 120000
To Net profit 120000
600000 600000

For the year 2017, it is estimated that,

(1) The output and sales will be 2000 T.V. Set.

(2) Price of materials will rise by 25%.
{3) Wages rates will rise by 10%.

(4) manufacturing charges will increase in proportion to the combined

cost of materials and wages.

(5) Selling expenses per Unit will increase by 25%.
(6) Other expenses will remain unaffected by_the rise in output.

Prepare statement showing the price at which TV Set to be
manufactured in 2017 should be marketed so as to show a profit of 20%

on selling price.
OR

The following figures are available from financial accounts of BR

company for the year ended 31-3-186.

Particulars Rs.
1. | Sales (60000 Units) 600000
2. | Closing Stock (Finished Stock 20000 Units) 60000
3. | Direct Materials 120000
4. | Direct Wages 90000
5. _j Factory overhead expenses 45000
6. | Administration expenses 240000
7. | Selling & Distribution expenses 80000
8. | Interest on Debentures 20000
| 9. llncome Tax paid 7500
10. | Legal expenses 2500
11. | Profit from shares shatta 12500
| 12, | Interest on deposit recieved 7500

3

(15)

(15)




The cost of accounts reveals :
Direct materials consumpﬁon 135000.
Administrative expenses - Rs. 2 per Unit of production
Factory overhead 20% on prime cost.
Selling and Distribution expenses Rs. 6 per Unit.
Prepare :
(1) Cost Sheet
(2) Profit & Loss Account

(3) Statement reconciling profit or loss disclosed by the cost sheet and
P & L Account. ' :
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(A) Define Cost Accounting. Explaln advantages of Cost Accountlng (08)

(B) Describe : (1) Element of Cost RERE (03)
(2) Cost centre and cost Unit S (04)

OR. _ o

Q.1 N i T

(A) Discuss : Costing Accounting and Financial Accounting. R (08)

(B) Write Short Note : Essentials for sound system of cost Accounting. (07)

Q.2 e

(A)" From the following information calculate . ) ' ' (10)

(1} Re-order Stock Level
(2) Minimum Stock Level
{3) Maximum Stock Level
(4) - Average Stock Level =
(5) Danger Stock Level

Informations :

(1) Maximum delivery period 60 days.

(2) Average delivery period 45 days

(3) Minimum delivery period 30 days.

(4) Maximum delivery period for emergency purchase 6 days.
(5) Maximum rate of consumption per day 45 Units

(6) Average rate of consumption per day 35 Units.

(7} Minimum rate of Consumption per day 25 Units.

(8) Ordering Quantity 900 Units.

(B) What are the remedies of Labour turnover rate ? Discuss. . - - (05)
OR
(A) Mr. Shryas has taken 25 hours to comp!ete a job. The wage rate per (10)

hour is 30 Rs. If he has received 1000 Rs. as total wages according to
Rowan Plan, What would bethe: amount of wages earned by him
accordmg to Halsey plan and piece wage plan and Time wage plan? -

(B) Explam Types of Materials. - o | (05)
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Q.3 SK Engineering Ltd. has three production departments A, B and C and (15)
two service departments X and Y. The followmg flgures are extracted
from the record of the company o

: Rs.
Rent & Rates 5000
General Ligutings 1 600
Indirect Wages ' 1500
Power 1500 |
Depreciation of Machinery | 10000
Sundries 10000
The following further details are available: g
Particulars A B. C X | Y
Floor Space (Sq. ft.) 2000 | 2500 3000 | 2000] 500
Light paints 0. 15 .20 10 2
Direct wages (Rs.} 3000 2000 3000 | 1500 500
H.P. of Machines 60 30 50 10 -
Value of Machines (Rs.) | 60000 | 80000 | 100000 | -5000 | 5000
Working Hours | 6226 4028 4066 ~ -
The expenses of X and Y are alloted as follows:
Departments A B C X. Y »
X 20% 30% 40% -1 10%
Y 40% 20% 30% 10% -

What is total cost of an article if its raw material cost is Rs. 50, Lébour
cost Rs. 30 and it passes through departments A, B and C for 2, 4 and 3
hours respectively.

OR .

Q.3 The following expenses have been received in respect of factory hav:ng (15)
4 machine of the same type.

Particuilars S Exp. per
_ Annum Rs.
Rent and Taxes ) L : 12000
' Lighting of Factory ' - 820
Repairs expenses 1180
Supervision expense i ' 12860 -

Attendance Salary (2 attendance Iookmg after 4
machine paid Rs. 600 per month each)

Power expense (10 paisa per Unit) 4800
Each machine consume 10 Unit of Power per Unit | - a
| Depreciation per-machine : ' . 600
| Hire purchase -installment for the machines| 1600
{(including Rs. 400 interest) e :
Sundry expenses for the factory 420

Calculate the machine hour rate.



Q.4 M.K. Manufacturing Company manufactured and sold 500 T.V. Set in
the Year 2015. The Summarised Trading and profit and Loss Account

Q.4

for the year 2016 is as under.

Partiguiars Rs. Particulars | Rs. .
To Cost of Materials 320000 | By Sales 1600000
To Direct Wages 480000 '
To Manufacturing charges 200000
Gross profit 600000 .
1600000 1600000
To Management staff Salary 240000 | By Gross Profit 600000
To Rent, Rate and Insurance 40000 | IRl IR
To General expenses 80000
To Selling expenses 120000
To Net profit 120000
600000 600000

For the year 2017, it is estimated that,

(1) The output and sales will be 2000 T.V. Set.

(2) Price of materials will rise by 25%.
{3) Wages rates will rise by 10%.

(4) manufacturing charges will increase in proportion to the combined

cost of materials and wages.

(5) Selling expenses per Unit will increase by 25%.
(6) Other expenses will remain unaffected by_the rise in output.

Prepare statement showing the price at which TV Set to be
manufactured in 2017 should be marketed so as to show a profit of 20%

on selling price.
OR

The following figures are available from financial accounts of BR

company for the year ended 31-3-186.

Particulars Rs.
1. | Sales (60000 Units) 600000
2. | Closing Stock (Finished Stock 20000 Units) 60000
3. | Direct Materials 120000
4. | Direct Wages 90000
5. _j Factory overhead expenses 45000
6. | Administration expenses 240000
7. | Selling & Distribution expenses 80000
8. | Interest on Debentures 20000
| 9. llncome Tax paid 7500
10. | Legal expenses 2500
11. | Profit from shares shatta 12500
| 12, | Interest on deposit recieved 7500

3

(15)

(15)




The cost of accounts reveals :
Direct materials consumpﬁon 135000.
Administrative expenses - Rs. 2 per Unit of production
Factory overhead 20% on prime cost.
Selling and Distribution expenses Rs. 6 per Unit.
Prepare :
(1) Cost Sheet
(2) Profit & Loss Account

(3) Statement reconciling profit or loss disclosed by the cost sheet and
P & L Account. ' :




[3!5!A—10 Engl Seat No. _. _No. of Printed Pages 4

SARDAR PATEL UNIVERSITY '
g. Com. (XXX gemester) Examinaﬁon
Tuesday, 2gt" November 2017
_ 40.00 am - 42,00 pm :
UBOSCCOM02 - Fundamentals of Cost Accounting

Total Marks : 60
Note : Figures to the right indicate full marks.

(A) Define Cost Accounting. Explain advantages of Cost Accounting. (08)
(8) Describe (1) ‘Element of Cost | SR (03)
@ Cost centre and cost Unit AR (04)
QA .
(A) Discuss ° Costing Accounting and fFinancial Accounting. o (08)
(B) Write short Note Essentials for sound system of cost Accounting. (07)
(A From the following_information calculate } o (10)

1) Re-order Stock Level
(2) Minimum Stock Level
(3) Maximum Stock Level
(4) Average Stock Level '
(5) Danger Stock Level

informations - _
(1) Maximum delivery period 60 days.
(2) Average delivery period 45 days
(3) Minimum delivery period 30 days. o
(4) Maximum delivery period for emergency purchase 6 days-.
(5) Maximum rate of consumption per day 45 Units
(6) Average rate of consumption per day 35 Units.
7) Minimum rate of Consumption per day 25 Units.
(8) Ordering Quantity 000 Units.

(B} What are the remedies of Labour turnover rate 7 Discuss: R (V]
OR
(A) Mr. Shryas has taken 25 hours {0 complete 8 job. The wage rate per {

hour is 30 Rs. \f he has received 1000 Rs. @8 total wages according to
Rrowan Plan, What would pe the: amount of wages earned by him
according 10 Halsey plan and piece wage plan and Time wage _p\an'?

(B) Explain : TYPes of Materials. -



Q.3

Rent& Rates
General Ligutings

Indirect Wages -
Power e

The following further
Particulars
Floor Space 3q. fi.
Light paints .
Direct wages (Rs) N
H.P. of Machines
Value of Machines (Rs )
Working Hours. .

The expenses of X and Y are allote
Departments

What s total cos
Cost Rs. 30 ang it
hours respectively

tof an article i its raw m
Passes through departm

aterial cost is
ents A B and

The foliowing expenses
4 machine of the same t

p e
Hire purchase ~Installment

for * the machineg
includin Rs. 400 interest

Sundry ex enses for the factoz:

Ulate the Machine hoyr rate,

Rs. 50, Labour

C for 2,4 and 3

(15)



Q.4 M.K. Manufacturing Company manufactured and sold 500 T.V. Set in (15)
the Year 2015, The Summarised Trading and profit and Loss Account
for the year 2016 is as under. '

| Particulars Rs, [ Pariculars | Rs. |
To Cost of Materials 320000 | By Sales 1600000
To Direct Wages 480000 ‘
To Manufacturing charges 200000
Gross profit 600000
1600000 1600000

To Management staff Salary 7240000 | By Gross Profit | 600000 .
To Rent, Rate and Insurance 40000 S o R I

To General expenses 80000
To Selling expenses 120000
To Net profit 120000
| 600000 | 600000

For the year 2017, it is estimated that,

(1) The output and sales will be 2000 T.V. Set.

(2) Price of materials will rise by 25%.

(3) Wages rates will rise by 10%. |

(4) manufacturing charges will increase in proportion to the combined
cost of materials and wages.

(5) Selling expenses per Unit will increase by 25%.

(6) Other expenses will remain unaffected by the rise in output.

Prepare statement showing the price at which TV Set to be
manufactured in 2017 should be marketed so as to show a profit of 20%

on selling price.
OR

Q.4 The following figures are available from financiat accounts of BR (15)
company for the year ended 31-3-16.

Particulars Rs.
1. | Sales (80000 Units) , 600000
2. | Closing Stock (Finished Stock 20000 Units) | 60000
3. | Direct Materials 120000
4. | Direct Wages 90000
5. | Factory overhead expenses B 45000
6. | Administration expenses 240000
7. | Selling & Distribution expenses - 80000 |
8. | Interest on Debentures 20000 |
9. | Income Tax paid ] 7500 |
| 10. | Legalexpenses 2500
11. | Profit from shares shatta ‘ 12500
12, [ Interest on deposit recieved 1 TEQQJ

3



The cost of accounts reveals -
Direct materia'ls consumpﬁon 135000. .
Administrative expenses - Rs, 2 per Unit of production
Factory overhead 20% on prime cost.
Selling and Distribution expenses Rs. 6 per Unit,
Prepare :
(1) Cost Sheet
(2) Profit & Lbss Account

(3) Statement reconciling profit or loss disclosed by the cost sheet and
P & L Account, IR -
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[5:54 €] SARDAR PATEL UNIVERSITY
:B.-Com.. (3™ Semester) Eiamination
 Wednesday, 29 Noveber 2017
 L000AM Toz200PM.
UB03CCOMO3 Tnternational Trade

Total Marks: 60

1. Discuss factor Endowment theory of Hecksc'her-Ohlin.‘ |
OR
1. Explain the Comparative Cost advantage theory of Ricardo.
2. A. Difference between Balance of trade and Balance of Payment.
B. Write on Concepts of terms qf trade.
2. What are reasons of disequilibrium in balance of Payment ? Give
Suggestions to remove it.
3. Explain the theory of demand .and.éupply for the determination of
RateofEXc’hange. T
- OR

15

15

07

15

15

3. What are devaluation of Currency ? Explain its merits and demerits. 15

4. A. Explain the Strategies of globalization in India,
B. Write detailed note on International Monetary Fund.
- OR.

07
08

4. What is Multi-National Companies ? Explain its merits and demerits. 15

Lo GO
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Q.1

Q.1

Q.2
(A)
(B)

Q.2

Seat No. No. of Printed Pages : 4
SARDAR PATEL UNIVERSITY
B. Com. (ILI Semester) (2010 Batch) Examination
Thursday, 23" November 2017
10.00 pm - 12.00 pm
UB03CCOMO04/13 - Fundamentals of Management Accounting
Total Marks : 60
Discuss the scope and Limitations of Management Accountaning. (15)
OR
Write short notes: (15)

(1) Difference between Management Accounting and Financial Accounting.
(2) Functions of Management Accountant.

Discuss the objectives of Budgetary Control. (07)

Explain the Advantages and Limitations of Budgetary Control. (08)
OR

Prepare cash budget for October to December from the following (15)

Information.
(1) Cash and Bank balance 1-10-2009 Rs. 10000

(2) Sales Actual and budgeted.

June Rs. 30000 (Actual) October Rs. 40000 (Estimated)
July Rs. 32500 (Actual) November Rs. 41000 (Estimated)
Aug. Rs. 35000 {Actual) December Rs. 44500 (Estimated)
Sept. Rs 37500 (Actual)
(3) Purchases - Actual and Budgeted.
June Rs. 18000 (Actual) October  Rs. 24000 (Estimated)
July Rs. 20000 (Actual) November Rs. 20000 (Estimated)
Aug. Rs. 24000 (Actual) December Rs. 25000 (Estimated)
Sept. Rs 22500 (Actual)

(4) Wages and other Expenses - Actual and Budgeted.
-Wages  Expenses
August (Actual) 7500 2500
Sept. (Actual) 7500 3000
Oct. (Estimated) 9000 3000
Nov. {Estimated) 9000 4000
Dec. (Estimated) 10000 4000




(5) Others - Advance payment of Income tax Rs. 2500 in November
Purchase of plant Rs. 5000 in October
(6) Rent payabie in advance Rs. 150
(7) 10% of purchases and sales are on cash terms.
(8) Time Lag: Credit Sales - 2 Months
Credit Purchases - 1 Months
Wages - 2 Month
Exp. - 4 Month

Q.3 Explain the meaning of Standard Costing? Explain the difference (15)
between standard costing and budgetary control.
OR
.3 Data about standard cost of a unit of output in a factory are as follows. (15)
Material : 4 kg Rs. 50 per kg Rs. 200
Labour : 50 hours Re 1 per hour Rs. 50
250
Data about actual cost
Actual production : 100 units
Material : 390 kg Rs. 52 per kg Rs. 20280
Labour 4920 hours Rs. 1.10 per hour Rs. 5412
25692
Calculate Material and Labour variances.
Q.4
(A} Explain the objectives of cost profit volume analysis. (08)
(B} Give the meaning of Break Even analysis and Discuss its utility? (07)
OR
Q.4 The following are the particulars of a business unit. (15)
Sales Rs. Profit Rs.
100000 10000
120000 14000

Work out the following answers from the above details.

(1) Profit volume ratio

(2) Figures of profit when sales are of Rs. 90000 and Rs. 40000
(3) Figures of sales to earn profit of Rs. 20000

(4) Fixed Costs

(5) Break even point
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UB03CCOMO4: BUSINESS STATISTICS1 L
MARKS: 60

Que.1
(a) What is mean by Primary data? Explain any one method for: collecting - A7)
primary data. .

{b) Prepare a frequency dlstrlbutlon for the followmg data cons:dermg 8y
class interval of 20 sue.h that one of ‘!:":a class shou’d be 180-200. T

110,118,178,169,261,251,201,185, 137,269,150,180,210,103,295,270, 149,
270,240, 100,152,170,152,178,215, 201,160,103,217,251.

O.R
(a) Explain Frequency distribution in reference to Data Presentation with '(7)
ifustration. S - A
(b) Form a frequency distribution from the following data by mcluswe - (8).

method taking 5 as the class interval and one of the class as 20-24.
19,16,22,9,22,12,39,19,14,23,6, 24,16,18,7,17,20,25,28,18,10,24, 20,214,110,
7,18,28,24,20, 14,23,25,34,22,5,33,23,26,29,13,36, 11,26,41,37,30,13,8,15,
22,21,32,21,31,17,16,23,12,9,15,27, 417,21,

Que.2

{a) Which are the various measures of Central Tendency" Explam m hrlef (7) _ '
Merlts and Demerits of Mean. R

(b) Compute mean and Median for the followmg data N . ' (B)
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60 | 60-70 | 70-80 l 80-90
No. of 4 2 in 22 21 19 0 3 1

| students ' R S y R

O.R
(a) Goals scored by two teams A and B in a football match as follows: (N
No.of Goals scored ] 1 2 13 4 [
No. of matches; Team A 27 9 8 5 4
No. of matches: Team B 17 9 6 5 3
CAT.0)




Find coefficient of variation and gwe your comment about which team is
more consistent? : : :
{b) Calculate the mednan and mode for the followmg data' (8)

Annual sales(in thousand) [40!20 |30 (40 |50 |60
Less than I

Frequency 4 (20 |35 |55 ;&2 67
Que.3
(a) Write any one d_éfini_ti_on of Probability .Also explain Sample space, {7)

Mutually exclusive events and complementary event with proper illustration.

(b) Three persons A,B and c aim a target The probabilities of their hlttmg " (8)
a target are respectwely e and -. Find the probah:hty that the target '
will be hit, o

- LR
(2) in usual nﬁ%éﬁfion; state and prove additional theorem of probability for (7)
fwo events _
(b) 1f 2P(A)“3P(B)"6?(Aﬂ B)-o 5 is given than find @ .

1. P(AUB) 2. P(A’ N B') and 3. P(R/B)

Que.4
(a) Give p.d.f. prbperties and uses of Normal distribution. {7

(b) Assummg that boys and girls are equaily probable find the number_ (8)
of families out of 1600 families each having 5 chlldren, wuth R
(1) 3 boys (2) 5 girls  and (3) 2 or 3 boys.

O.R

{a) Give p.d.f. #rcper‘ties and uses of Binomial distribution. -(7‘)
() xisa Poisson variate such that P(x=3)=P{x=4), Prove that (8)

P(x=2)= Be*.




Seat NO. se-resmommann

B.com (3" Sem.) Examination
Vionday, 27 November 2017
Time02:00 fi.M tc}2:00 P.M.

UB03CCOMO4: RUSINESS STATISTICS-1

SARDAR PATEL UNIVERSITY

MARKS: 60
Que.1
(a) vifls Wil RAed 47 u'tu[ﬂs HRA Naactd slgue As da wudl (7)
(b) &5 clol 180-200 U aofaz 20 Al A AQ Roll 1wl 1 uglRdeaell - (8)

2Uell B3,

110,118,178,169,261,251,201,185,137,269,150,180,210,103,295,270, 149,
270,210, 100,152,170,152,178,215,201,160,103,217,251,

wydal

(a) HBAA ealacuoll Aol Aeeini GeigrR el uLchﬂ[acteL,t el
(b) A5 asl 2024 A asfcz 5 Aot A AQ At WAl 12 wulrauRs ugfel Gudlo '(8)'

531 el el 2ustt 53

19,16,22,9,22,12,39,19,14,23,6,24,16,18,7,17, 20,25,28,18,10,24,20,21, 10
7,18,28,24,20,14,23,25,34,22,5,33,23,26,29,13,36, 11,26,11,37,30,13,8,15,
22,21,32,21,31,17,16,23,12,9,15,27,17,21.

Que.2

(a) Heatecll GRellell 0l s B 2 easotl QL u €N gsil UMA Al

(1) 02l B W eats ua el Aadl s3A

m
@

70-80 | 80-80 |

ot 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

RArauBlALA | 4 2 18 22 24 19 10 3 1
duall

%
vy
(2) AAM AUA B st A5 geodet Naul (A wud ol HReHl vlel. )
N N —

sacldl st olleel Avall 0 1 2

Ratofl dua & : A 27 |9 8

Naell vl u: B 17 9 6

Cuist Gl2lon)




actells Aol 58 M aud Yadtd ¢ 8?7 a @R ang Heled %'gucil
(b) ARl BA 2 Hea ual ovsas ol oteictdl 53

s Al ( ML) 4020 |30 |40 |50 {60 -
ofl 2ol . ' =

utq{?& ' - 4 |20 |35 |55 |62 87 B
Gue.3

(a) deucstsll AU s AU cil Ao GELeeRl uéld Fledl Aaslal, URUR flanzs

Yzollull wUal Y s el Ukl a{uoacn

(b) #uL AGY A,BUA € us {?rlauat il B.Auotl Blattel cisettell Aeticteit w5

2,5 ua 1B dstel Aol deudeu L
sl

(a) sﬂetuu Ascul A geoll méuﬂ mcuuucﬂ yia el wal a2l

(b) %l 2P(R)=3P(B)=6P(An B)=0. 5 wUNA C;lat a

1.P(AUB) 2.B(A’nB’)and 3. par/ BY) ol Bud Aoal.

Que.4

(a) wHIE @clRgls] daldell dgct @A ol wa Guadll AfQuLell.

(b) WA} Blsa AR Blsdlel detastt azull Alat Al €35 ol 5 Wasl A dal
1600 §§E»ni{l ol Jeal gdoul (1) 3 Bl8U (2) 5 Hlsdtoll A
(3) 2 waal 3 Blsaell 88l Aell i,

aaLalt

(a)Rudl [Qdrule deddslt dac @R el wa, Gualbll oLl

(b) A x Netdiot At B wR P(x=3)=P(x=4) 8 QA W@ 523 P(x=2)= 8e™.

(8)

M

(8)

(7}

(8}

()
(8)

(7
(8)



SEAT No.

Mo. of Frinted ﬁages oy
[A-5]  SARDAR PATEL UNIVERSITY

BCOM SEMESTER 11l EXAMINATION 2017(2010 BATCH)
SUBIJECT: BUSINESS STATISTICS |
SUBJECT CODE: UB03CCOMO05/14

DATE: 24/11/2017 TIME: 10 AM TO 12 NOON
Total Masle s 60

Q. 1(a) Distmgmsh between prlmary and secondary data. Explain their 8
sources in brief

(b) For the following data, using tally marks and taking one of the 7
inclusive classes as 22-25, prepare a frequency distribution:
10, 17, 15, 22, 11, 16, 19, 24, 29, 18, 25, 26, 32, 14, 17, 20, 23, 27,
30, 12, 15, 18, 24, 36, 18, 15, 21, 28, 33, 38, 34, 13, 10, 16, 20, 22,
29,19,23 and 31

OR

Q. 1(a) Explain with illustrations(i) Data (ii)Information (iii) Variable (iv) 8
Constant and (v) Attribute

(b) Following are the information about number of flowers on a plantin 7
the garden. Prepare frequency distribution
4,2,56234125{)4713564234233_,412
4,3,6,5,4,3,5,3,2,4and 3

Q.2(a) For the data given below, find the missing frequency if the arithmetic =~ 8
mean is 33. Also find the median.
Class: 0-10 10-20 20-30 30-40 40-50 30-60
10 15 30 ? 25 20

(b) Find mean and standard deviation for the following data 7
X1 2 4 6 8 9

OR

Q.2(a) Mean and standard deviation of 100 observations are 40 and 10 8
respectively. Later it was found that two observations 30 and 70 were

taken wrongly as 3 and 27. Compute correct mean and standard
deviation

(AT 0
1o .




(b)

Q. 3(a)

(b)

Q. 3(a)

(b)

Q. 4(a)

(b)

Q. 4(a)

(b)

Write note on :
(1)  Coefficient of Variation
(11)  Deciles
(i) Mode

With usual notations state and prove addition theorem of probability
considering three joint events

What is the probability to get 5 Sundays in the year 2052
OR
Give definitions of probabiiity and show that P(A) + P(A") =1

A card is selected at random from a pack of cards, Find the
probability to get a face card or a spade card.

State probability density function and properties of Binomial, P01sson
and Normal distributions of probability

For a binomial distribution, given n = 10 and P(x =5 )=2P(x = 4) then
find the value of *p’

OR

For a Poisson distribution, given P(x =3) = P(x = 4) then find P(x =
2) .

In a normal distribution 31 % observations are less than 45 and 8 %
observations are more than 64. Find its mean and variance

X




SARDAR PATEL UNIVERSITY
BCOM SEMESTER Il EXAMINATION 2017(2010 BATCH)
SUBJECT: BUSINESS STATISTICS |
SUBJECT CODE: UB0O3CCOMO5/14

DATE: 24/11/2017 TIME: 10 AM TO 12 NOON
' B¢l 3015 60

Q. 1(a) Ml 219 otel IR AL dstad 2ud) d-l 21 yxeal. 8

(B) QA sl Wi As weflaig a0 22-25, @S g Qdel dur 7
5. |
10,17, 15,22, 11, 16, 19, 24, 29, 18, 25, 26, 32, 14, 17, 20, 23, 27, 30,
12, 15, 18, 24, 36, 18, 15, 21, 28, 33, 38, 34, 13, 10, 16, 20, 22, 29, 19,

23 21 31
OR
Q. 1a)  wuHenal. (i) 32 (il dl (i) 2a (iv) Haa 29 (v) 98l 8
(b)  AlA-l Rl eols ur gen-fl v eald 8. 2ugfd Rare dur sd. 7
4) 2J 5} 6} 21‘ 3] 4)’ 1} 2} 5) Ol 4f 7} 1[ 3J 5} 6) 4.’ 2‘) 3) 4) 2I 3! 3):51 4) 1} 2)
4,3,6,5,4,3,5,3,2,4 %13
Q.2(a) %l H®s = 33 2u0al gl dl wedl 2ugld 2 wea il 8
@°l : 0-10 1020 20-30 30-40 40-50 50-60
f:10 15 30 ? 25 20
(b)  ~{lal sl ll wRell 2tus i 1., 2014l 7
X:1 2 4 6 8 9
OR
Q. 2(a) 100 Mkl AL Hes wA 1AL xgsN 40 2 10 8. wwnel wer 8

Ul 3 el niisl 30 w70 ¢l 3 i 27 dalul edl al Al
WS 2in 3[4 aila)

CHet g




Q. 3{a)

(b)

Q. 3(a)

(b)

Q. 4(a)

e gl ;
(i) =aaxis
(i) ewas
(iii) sgas

Hafla dddl audl o Aysd qel e Asiadly uuy sl
Aledld $3U.
ay 205240 53 el 1A d-fl Actia-l wlal,

OR
detiartdl euvai 2l wislld 53 3 p(a)+ P(A) = 1

52 Uerlliigl s Ueg WRAE S d A ual sidly wo d-l
SICTERTIENEN

[Aruel, Wlaae - nawey [Qazei el ol

25 [Bugl [Ade H12 %l n = 10 A P(x =5 )=2P(x = 4) &lu dl ‘p’
alal
OR

1S

w5 ylun [@ael | o Px=3) = P(x=4) sl dl P(x =2) a4l

w5 UMY [AdWiAL 31 % MIUdisl 45 Scll 20601 Vi, 8 % HlUdis)
64 5l a8 ld dl wes 24 1.4, eyl

" P T PR n
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[4 ¢ A-21]  SARDARPATEL UNIVERSITY

Note:

j SEAT No.

]

BCOM - G (SEMESTER-III)
(Fundamentals of Banking Services)
22™ November, 2017, Wednesday
16:00a.m. to 2400 p.m.
(UB03CCOMO5)

1. Totai marks 60
2. Figures to the right indicate marks

Gue-1

g

Que-1

Que-2

Que -2

Que-3

Que-3

Que-4

Que-4

What is a Commercial Bank? Explain the functions of commercial

E e g o
ND; of Brinlest Tangs

e {11
“banks, " .
OR
Write notes on : ;
a. Types of Account [15]
b. Role of Banks in economic development
Give the definition of Banker and Customer. Discuss in detail the [15]
-general and specific relationship between banker and customer, - -
OR |
Write notes on : _
a) Bill of Exchange and Promissory Note [15]
b) Classification of Negotiable Instruments _
What is Credit Creation? Explain in detail the process of Credit Creation  [13]
OR
Write notes on : _
a. Types of Crossing [15]
b. Principles of Sound Lending
What is E-Banking? Discuss in defail 'the advantages and constraints of [15]
E-Banking
OR
Write notes on :
a. Mobile Banking [15]
b. Advantages ofE(;,‘i**H***H**”*#; CP.TrO-]
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SARDAR PATEL UNIVERSITY
BCOM -G (SEMESTER-III)
Al Aalalidl HGd dedl
(Fundamentals of Banking Services)
22™ November, 2017, Wednesday
02:00 p.m. to 04:00 p.m,
(UBQ3CCOMO5)

(1) s A%~ 60
(2) 1Bl ollogetl wis WDl oL eald B,

ol -1

Wl =1}

Wad, -2

Ul -2

Y3t =3

W3d -3

Wt =4

M -4

AU Gles A2l Y7 AU Qeflel S1aTR MLl
UL
e&eliy ¢uil:
1. ullelledl UsLEL
2. 2ulEs [asiami aefidl sl

Red2 MR Mot Al 240D, Blest MR MWEL QLN AL
e, [alsive oisiledl Riadd 0 aul $31.

Al
éselly, @il
Lo fdana vd 21a g sl
2, F0lEdldl Al qa[tgqgi

AL ABe 2 g 7 A AN ulFad Radd 5 AL,
A2l
5l evil:
1. Al wsld
2. yes (ol Risidl

E-Gl30 Ned 3 7 §-6illFaql steer wA waleraii-ll oA
aal 59
2 cil
EsAlu il
1. Weude A3
2, ECS+l siaeLd)

ok ok s o o ok ok kO e

[15]

[15]

(131

[15]

(15]

[15]
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EB & A-44) Sardar Patel University

BCom : Semester —I11
Date:24 /11/2017, Friday
Session: Myvning
: Time:10.00 gone TO ALL00 patie
Subject/Course Title: Tax Procedure and Practice-III
Subject/Course Code: UBO3CCOMO6
~ Total Marks: 60

Note : (1) Figure to the right indicate full marks of the question .
(2) Show your caleulation clearly '

Q—ﬁ A)What is Wealth Tax? Write a bllei" note on Wealth Tax Act [10}

1957.
B. ) Write note on : Deemed Assets” ‘ ([05]
OR
Q-1 | Write notes on: [15]
1.) Exempted Assets '
2.) Net Wealth
Q-2 | Explain Assessment and Post Assessment Procedure in detail. [15]
OR

Q-2 | Shri Mahendrakumar is an Indian citizen. Ihs assets and liabilities as | {15]
on 31% March 2016 were as under:

Assets _ Rs.
i.) Interest in HUF , 2,50,000
ii.} A house in Ahmedabad used for his own residence 8,50,000
iif.)Urban land situated within 8 Km., of the local limits

of a municipality. There is no restriction on -

construction of a building on this land 2580,000
iv.)Shares of Ambica Mills Ltd. 2,10,000
v.)Fixed deposit in bank _ 1,40,000
vi.)Furniture (househoeld) ' 1,75,000
vii.)Motor car for personal use 3,00,000
viii.)Cash on hand 2,00,000

Liabilities
Qutstanding aimount for 1oan taken for purchase of the
house. . 3,40,000 -
CPT.0)



Compute his fnet wealth for the- AY 2017-18

1.) Procedure for filing appeal
'2.)Procedure for imposing penalties . -

Q-3 | Who is liable to pay Advance Tax? What is the 1nstdliment and due
date of Advance Tax‘7
OR .
Q-3 A.)Explain the procedure and rate of tax deducted at source on [10]
various payments.

13.)Who and when the person is liable to deduct tax at source? [05]
Q-4 A.)Who can claim for refund and what is the time limit for . [10]
i claiming the refund?

B.) Write a note on : Rectification of mistake(s) [05]

‘ OR

Q-4 | Write notes on : [15]

IR, O e




[4/A-20] SeatNo. ..~ oo . No. ofPrinted Page : 1

SARDAR PATEL UNIVERSITY
B. Com, (III Semester) Examination
Friday, 24" November 2017
N 10.00 am — 12.00 pm
UBO3ICCOMO7 - Advertising Sales Promotion and Sales Management-III

Total Marks : 60

Q.1 Explain measuring sales and communication performance for . (15)
Effectiveness of Advertising.
OR
Q.1 What are the methods of measuring effectiveness? Explain each of them.

Q.2 Write short notes : | (15)
(1) General Advertising :
(2) Retail Advertising

OR
Q.2 Write short notes :
(1) Business Advertising
(2) Facilitating Institutions
Q.3 Explain the function and selections of Advertising Agency. (15)
OR

Q.3 Write short notes:
(1) Types of Agency organisation
(2) Agency Compensation

Q.4 Write a detailed note on Advertising in Non-Business Areas. . o (19)
OR ‘
Q.4 Write short notes :
(1) Industrial advertising
(2) Rural advertising




SEAT No. | No. of Printed Pages: _ o

[A-3] SARDAR PATEL UNIVERSITY

B.Com (GEN/ HON) Examination, IIT Semester (CBCS, NC)
€ 2040 Rakch)
Thursday, Date 30/11/2017
Session: Morning Time: 10:00 AM to 12:00 PM
Subject code: UM03CCOMO07
Subject Title: Managerial Economics- 1

Total marks: 60

Note: 1. Figure to the right indicate full marks of the question.
2. Your answer should be precise and fo the point.

Q-1) What do you mean by National Income? Explain the concepts of NNP, GNP, [15]
OR

Q-1) Discuss the trends of National Income growth and structure. [15]

Q-2) Explain the theory of demographic transition. [15]
OR

Q-2) (A) Discuss the population policy of India. [8]

(B) Discuss the sex composition and density of population. (7]

Q-3) What is poverty? Discuss its types and causes of poverty. - [15]
OR

QQ-3) Short Note on: [15]

a. National rural employment guarantee scheme
b. Changing dimension of unemployment

Q-4) What is importance of Indian agriculture in the economy. [15]
OR
Q-4) Discuss the national agriculture policy. [15]
CPT-02)
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SARDAR PATEL UNIVERSITY

B.Com (GEN/ HON) Examination, [II Semester (CBCS, NC)

Thursday, Date 30/1172017  C-0H0 Batedd

Session: Morning Time: 10:00 AM to 12:00 PM
Subject code: UMO3CCOMO7Y
Subject Title: Managerial Economics-
Total marks: 60
Al ol sl 24ls wodal U3k e B

Faydl waiet Asuduads ad e wall,

yad- 1) 2 s 928 31 Ay A Baed AR 5 A St i wendl. [15]
alaay

wai- 1) aedln wnasdl alin wud mons adgey 2l [15]

wae-2) axdl [ndles (auia oend), [13]
G

wt-2) 5 eaddl azdilfa 2l [08)

v, olan oaae ud oadl Nadr vl [07]

wed-3) 10l Aol §r Al ust wel el A, [15]
ayal

-3 gseli el [15]

5. asda el AR olikeldl A
2. Gl oveendy ol uRpwll
woe-4) wddowri euadin Wl 8 He B, [15]
aiaal
viet-4) 2 Ul Al 2all, [15]



Q.1

Q1.

(A)
(B)

Q.2

Q2
(A

(B)
Q.3
Q.3
(A

(B)
Q.4
Q.4

(A
B)

., O 't T— '5‘;"‘ T - .
H o - R ' w00
[EL a49] SARDAR PATEL UNIVERSITY
~ BCOM (SEM-11T) EXAMINATION
Thurs_d:_iy-_,_ 23 November, 2.01%
. 40:00 AM To42:00 PM -
UB03CCOMO8- SMALL ENTERPRISE MANAGEMENT
Total Marks 60
What is Small Industries? Explain uniqueness and Role of Small Scale (15)
Industry in India. : o -
| OR
Write note On _ .
Selection of the Product (08)

- Preparation of Project Report 07
Clarify statement Incentives and Subsidies. Discuss the needsand  (15)
problems of Incentives in detail, list out yarious incentives scheme in
operation. - '

OR
Write Note On: _ _
Subsidy for Market Studies and Indigcnou_s‘Technology_ - (08)
Transport Subsidies o7
What is Finance? Discuss in detail financial institution problems in  (15)
financing a small scale Industries. ' C ' :

OR
Write Note On:
Production Planning ~(08)
Production Mix (07)
What is Manpower Planning? Discuss in detail Sources of Manpower  (15)
and welfare measures. "

OR
Write Note On —
Causes and Remedies of Industrial Sickness 08)
Settlement of Machineries (07)

| CRT0)




SARDAR PATEL UNIVERSITY .
BCOM (SEM-III). EXAMINATION _
Thursday, 23 November;, 204%
10:00AM Tod.ﬂ-,ﬂﬂ PM
UBOSCCOMﬂg SMALL ENTFRPRISE MANAGEMENT
: Total Maris 60

Q1 @y GuloL ud g;? Gy G oil @aEl del R c[lat wddA H cﬂtg Gt (19
ol sl @3 ual 53 L

saal

Q1 aellu cdl. | -
@) Ysse ofl uzieoll @A A e ®
@ WL wdaa daR s (A o @l : ' S ()

Q2 Ysel w wEs usla Ned 4. mmd ol %aﬁéu& Bl 'aﬁéc_c—[l (aa (15)
Qacet 1 w2l 53 QR stedd Yldtot Alooll ol AR 83, |

Al
Q2 &eelle el | - R _.
A ooz veAdld QA Hodll uptal wi redell sl B ()]

)  URasel uslL ' e ()

Q3 oy Qa@t eg? ougu(%au ezl sl c{g Gt A otu,uéla Ha grauul - (9
usel yaiell (@A Al s, o

U

Q3 agally civil. |

@)  Gallgel Welogel (09
) Geuigsl M (07)

Q4 o aGA Wl Aed gj? Ml AbAel Ay Bl dal seel ot (15)
watell QA Radet w1t w2 52, |

UYL
Q4. goallu @l . .
@) - WABLs il ot 52U AR GuAl o )
@ A ol ol (g
e W



SEAT No.

B.Com Examination, Third Semester
Monday, Date: 27/11/2017
.- Session : Morning Time :10.00 Am to 12.00 Pm
Subject / Course Code: UBO3CCOMO09
Subject / Couse Title : Computer In Business — Il

Total Weightage/ Marks: 30

Que:t (a) isB-2lol dligede 4 87 dll Guilol seuell adh glact svudl, ()

(b)  HAsiGracl U5k A, e _ (3)
2y
(@) ¢l 2414 4 Component w4utdl, (¥)
(b) 2dlui fudl oicliaatl 22y s, N R (3)
Que:2 (a) Fixed Assets 2 Indirect Expanse 3u (33 3o, (¥)
(b) 2dliLedger et-adidl 3y @i, S (¥)
ADLT]
(@) Current Assets i Indirect Income yu [8 uuodl. (¥)

(b} 2dlui Sundry Debtors 214 Sundry Creditors g 97 uumdl.  (¥)

Que: 3 2elll [alay auG [Q3 umonql, A (¢)
| Yl |

(a)  Memo Voucher »i< Post Dated Voucher {48 suendl, -~ (%)

(b) Credit Note i Debit Note (42 uudl. e (¥)

Qued  (a) 2ellnisiad RRH 05 RLWRR =L ()
| (b) 2clui Day Book efidr Wizl 23y oudl, (3)

Wl
(a) - 2dl4i Balance Sheet ui- Cash Book (83 uuandl, - (¥)
(b) 2dlui Cash Flow Statement (&3 auadl, - | (3)

kkkkkik

2-,2




Session

Que:2 (a)

Que:3

Que 4 (a)

SEAT No.——oeee beow. ..« po

B.Com Examination, Third Semester

Monday, Date: 27/11/2017

: Morning ' Time :10.00 Am to 12.00 Pm
Subject / Course Code: UBO3CCOMO9
Subject / Couse Title : Computer in Business = llI

Total Weightage/ Marks: 30

What is Accounting Software? Explain the benefits of using it. ~ (4)

Explain types of accounts. (3)
OR

Explain Tally Screen Component. ANonl, | (4)

Write steps to create a dompany in .T.al'ly. (3)

Explain about Fixed Assets and Indirect Expanse group. ~ (4)

Write steps to create a Ledgerin Tally. (4)
CR

Explain about Current Assets and Indirect Income group. (4)

What is Sundry Debtors and Sundry Creditors in Tally? Explain.(4)

Explain different vouchers of Tally, g (8)

OR | ‘ ,

Expiain about Memo Voucher and Fost Dated Voucher. (4)

Explain about Credit Note and Debit Note. - | (4)

Give details about different reports_av_ailab_le in Tally. _ _({1)_

Write steps to view Day Book in Tally. _ (3)
OR

Explain about Balance Sheet and Cash Book in Tally. (4)

" Explain about Cash Flow Statement in Tally. (3)

—— CPT 0.)
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CS & A-22] SARDAR PATEL UNIVERSITY
‘B.COM (3" Semester) Exam'inétilon
Friday 24" NOVEMBER 2017
10:00 AMAROOPM
UB03CCOMI0- Secretarial Practice -III

Total Marks: 60

Q 1. What is Allotment of shares ? State its Procedure and Explain ‘irregular allotment
15

| Or
Q-1. Sta‘e Secretary s duties regar dmg Allotment of share and Wwrite a note on prwate
Placement of share/debenture, : o B T
Q-2. State legal provisions for listing of securities and Advantages of listing of Secui'ities. .15
Q-2.Discribe proéedﬁré 6f Deman’ding call of share .a:n(.l Expléin provisions of company law
Regardmgsharecalls | _ R T
Q-3.What is forfelture of shares ? State legal provisions and procedure of forfeiture of -
Shares, : ' . 15

Q-3.State .effects of forfeiture of share and secretary’s duties regarding forfeiture of
Shal__‘es.__ o : Ce e L _1_5.
Q-4.What is Office management ? Explain its characteristics and functions ..15
Or
Q-4. Explain importance of office management and give brief idea of modern office

equipments, | 15

CAT.0.)




SARDAR PATEL UNIVERSITY

' B.COM (3" Semester) Examination
Friday 24" NOVEMBER 2017

10:00 A.M.- 12200 P.M

UB03CCOMI10- Secretarial Practice -IIT

§C I8 : 60

Q-1 AR furll A2Q ¢ 2 Aol AR vl A uR2RQ A2 dé.iugﬂ wwlcn T

el
Q-1. 2 adauell i udedlol seﬁ wlcil el a\e % Gaauecﬂ wietofl tﬂe& slacel @Y
ol v, - 15
Q-2. A Hletd(lAoll il 243 slate1fla Rorcugal QU el 93 {loto(1{1o0) oﬂtu,ﬂau
LAE1RY wual, : 15
el
Q-2. As\cll Hollqc{tvﬂ rara c{gicIt ol A2 elell Hauael R suslltuziel Rotaugal
Ul ' 15
Q3. A2 Wil A2 g 2 A2 wnclloll AR u& ae %wﬂ 2l Slauélat ﬁolcuesan o
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(2.44A7  SARDAR PATEL UNIVERSITY
B.Com(Third Semester)Examination
Tuesday, 05th December,2017.
_ 1000amt01200pm
Materlals and Production Management(UBO3CCOM01)

NOTES- 8 Figures to the right indicate full marks of each question,

1(3) Give the meaning of Materials Management and Discuss the Scope
of Materials Management.
(b} What are the Objectives of Materials Management?
" OR :

1{a) Explain the Importance of Materials Management in Manufacturing

Industries.
{b} What is Materials Plannmg? Discuss br;efly factors affectmg Materlals
Plannlng : :

2{a) What is Purchasing? Explain the Importance of Purchasing.
(b} Discuss the various Principles of Right Purchasing.
OR B e
2(a) Briefly discuss the various methods of Purchasing practiced by
various types of organization. o
(b) Differentiate between Centralized & Decentralized Purchasing.

3(a) Give the meaning of Production Management. Explain the Role .
and Responsibility of Production Manager in Modern Business World.
{(b) Write Note on: Scope of Production Management.
3(a) What is the Importance of Production Management in Manufacturing
Unit?
(b} Write Note on: Types of Production Process.

4{a} What is Plant Location? Explain the factors that must be considered .
while choosing a Plant Location. :
{b} Define Product Layout. Draw a sketch of such a Iayout and explain its
merits and demerits.
oR .
4(a} What is Plant Layout? Discuss the objectives of Plant Layout.
{b} Write short notes on: .
1. Principles of Plant Layout.
2. Process Layout,

************************#******%%*************************

Total Marks 60

CPRTey

ROk K R



[6/A-17/A-18]

B. Com. (IIT Semester) Examination
Saturday, 25" November 2017

Seat No.

SARDAR PATEL UNIVERSITY

10.00 am —12.00 pm

No. of Printed Pages : 4
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Note : Figures to the right indicate 'full marks of the question paper.

Total Marks : 60

~ Q.1 From the following information, prepare profit and Loss Account of the (15)
-company for the year ended on 31 March 2017 in the vertlcal from along
with notes of vidit co. Ltd. . .

. Partlculars

Equity share capital Rs. 10 each

Land and Building
Sales

Interest on investment
Director's Fees
Sundry debtors
Wages

Carriage inward
Advertisement Exps
10% Debentures
Debenture interest
P.F. contribution

Additional Informat:on

Rs. Particulars
500000 Purchase
300000 Sales Returns
875000
7500
15000
100000
. 26000
10000
8000
100000
10000
10000

Bad debts
Salaries
Opening stock
Raw materials
Finished goods

Interest on Bank
overdraft

Purchase Returns

Administrative Exps.

Rs.
236000
5000
16000
5000
60000

15000
5000
40000

6000

(1) Closing stock is valued on 31-3- 2017, Raw-material Rs. 40000
and finished goods Rs. 35000.
(2) Depreciation to be provided at 10% on fixed assets Land and

Building includes the cost of Building Rs. 250000.

(3) A provision for Bad and Doubtful debts is to be created at 8% on
sundry debtors.
(4) Outstanding salaries Rs. 12000.

OR

Q.1 Draft the format as per Revised schedule VI of Balance Sheet in vertical (15)
form with imaginary figures and also prepare necessary notes. :

.2 Xltd was mcorporated on 1% March 2016. The company took over the (15)
remaining business from 1% November 2015. Find out the profit up to
incorporation from the information given below:
(1) Sales during the year amounted to Rs. 600000 out of wh|ch sales up to

1* March 2016 were Rs. 250000
(2) Gross profit for the year was Rs. 210000.
(3) Expenses debhited to profit and Loss Account were as follows :

1




Rent 9000 Advertisement 18000

Salaries "+ 15000 Printing and Stationery 3600
Director's Fees ' 4800 - Commission on sales. 6000
Interest on debentures -5000 Bad debts 1500
Audit Fees 1500  (Which includes Rs. 1000 '
Discount on sales 3600 refating to period after
Depreciation 36600 incorporation)
General Expenses 4800 Interest to vendors 3000

' (Up to 15t May 2016)

OR

Q.2 Vrunda Ltd. was incorporated on 1% May 2016 to take over the running
business of Shah Bros with effect from 1 January 2016. The certificate of
commencement of Business was issued on 1% June 2016. Vrunda Ltd. has
prepared its final accounts ending on 31% October 2016. From the following
information, prepare a statement showing pre incorporation and post
incorporation profit and show how you would utilise the pre incorporation
profit? )

: Rs. Rs.
Salaries _ 15500 Interest paid to Vendors 1800
Advertisement exps 2400 {up to 30-6- for 6 months)

General Exps 3000 Depreciation 3500
Preliminary Exps 2750 Debenture interest C 2340
Rent Received : 4500 Rent up to June-2016 2400
Share transfer fees Received 60 (half yearly) -
Commission on sales at 1% 3000 Rent after 30 June-2016 6000
{Yearly) '
Sales for first four months 75000
Gross profitamountedto 120000

Q.3 The Balance sheet of Nirasha Ltd as on 31* March 2017 reveled the
following position. : o

- Liabilities Rs. : Assets : Rs.

Share capital 50000, 6% cum. Pref. Goodwill . 90000
Shates of Rs. 10 each fully paid 500000 | Land and Building 400000
10000 Equity Shares of Rs. 10 each Plant and Machinery 400000
fully paid 1000000 | Patents 200000
Debentures 200000 | Furniture 40000
Debenture interest outstanding - 20000 | Stock -~ o 250000
Creditors ' 100000 | Debtors - 100000
Contingent Liability -- | Bank Balance 27000
Cum Pref. Dividend in arrears 220000 |~ | Preliminary expenses | * 13000

o - | Profitand Loss Afc 300000

L 1820000 : 1820000

The company proved unsuccessful and a scheme for the: reduction of
capital was a dopted by the share holders and was approved by the court.
The scheme provided for following. : '

2



(1) Preference shares to be reduced to Rs. 6 and equity shares to be
reduced by Rs. 6. -

(2) Debenture holders to waive their outstandlng rnterest

(3) The preference share holders to waive their arrears of dividend and
Rs. 25000 to be paid to them in lieu thereof

(4) Goodwill, the profit and Loss A/c (Debit balance) preliminary expenses
are to be written off.

(5) The balance available to be utrlrsed for writing down the value of assets

as under
. Liabilities Rs.
Land and Building 100000
Plant and machinery 100000
Patents 150000
Furniture 20000

(6) Provision for Baddebis to be made at 5% on debtors,
Pass journal entries giving effect to the above scheme. and prepare a
revised balance sheet. :

OR
Q.3 The balance sheet of Anand Ltd. as on 31-3-2017 is as follows : (15}
Liabilities Rs. " -Assets Rs.
10% Pref. Shares of Rs. 100 each 150000 | Goodwil 82000
Equity share of Rs. 10 each 500000 | Land and Building 300000
12% Debentures 160000 | Machinery | 145000
Accrued interest on Debentures 19200 | Investment 35000
Director's Loan 30000 | Stock 145000
Creditors 144800 | Debtors 40000
Contingent Liability Bank Balance 147000
Claim against Company for - | Preliminary exps - 24000
Rs. 46000 Profit and Loss Alc 86000
1004000 1004000

The following scheme of capital reduction was approved and implemented.
(1) Preference shares to be reduced up to Rs. 90.-
(2) Equity shares to be written down by Rs. 3.

~ (3) The debenture holders agreed to forgo their accrued interest and also
agreed to accept a piece of land worth Rs. 80000 at Rs. 100000 as part
payment

The remaining.land and building were valued at Rs. 250000

Rs. 39000 were realised of investment. :

Reconstruction expenses amounted to Rs. 15000.

It was decided that company had to pay the claim against itself. For this
company adjusted the amounted against the loan of a director of

Rs. 30000.

(8) Intengible assets are to be written off Draft journal entries in the books
of Anand Ltd. Prepare Balance Sheet after Capital Reduction.
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Q.4 National Co. Lid. went into voluntary Liquidation on 31% December 2016
The Balances in its books on that date were.

Q.4
(A)

(B)

(15) -

Liabilities Rs. Assets Rs.

6% cum pref. shares of Rs. 100 Land and Building 250000
each fully paid 500000 | Plant and Machmery 625000
2500 Equity Shares of Rs. 100 | Patents 100000
each, Rs 75 paid up | 187500 | Stock 137500
7500 Equity Shares of Rs. 100 Sundry Debtors 275000
gach, Rs. 60 paid up 450000 | Cash and Bank 75000
5% Mortgage Debenture 250000 | Profit and Loss Afc 300000
Debenture interest outstanding 12500
Creditors 362500 ‘

B 1762500 1762500

The liquidator is entitled to commission of 3% on all assefs realised and
2% on -amounts distributed among unsecured creditors other than
preferential creditors.

Creditors include preference creditors Rs. 37500 and a loan for Rs.

125000 secured by a morigage on land and building. The preference

dividends were in arrears for two years.
The assets realised as follows :

: Rs.
Land and Building 300000
Plant and Machinery 500000
Patents 75000
Stock 150000
Sundry Debtors 200000

The Expenses of liquidation amounted Rs. 27250. Prepare the !:qwdators
final Statement of Account. L
OR

Bakul Ltd. went into voluntary liquidation. The details regarding hqu1datlon
are as follows.
Share capital
2000, 8% preference shares of Rs. 100 each, fully pald
'A' - 2000 Equity shares of Rs. 100 each, Rs. 75 paid up
'B' - 1600 Equity shares of Rs. 100 each, Rs. 60 paid up
'C' - 1400 Eguity shares of Rs. 100 each, Rs. 50 paid up
Assets including machinery realised Rs. 420000
Liguidation expenses amount to Rs. 15000
Bakul Limited has borrowed a loan of Rs. 50000 from Patel Brothers
against the mortgage of machinery (Which realised Rs. 80500). In the books of

the company salaries of 4-(four) clerks for four months at a rate of Rs. 250 per

month and Salaries of 4 (Four) Peons for three months at a rate of Rs. 150 per
month are outstanding. In addition to this, the company's books show the
creditors worth Rs, 79800. The liguidator is entltled to a commissmn of 2% on
assets realised.

Prepare liquidator's statement of receipts and payments.

Write note on - preferentlal credltors

(10)

(05)
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Q.1 Draft a Balancesheet in Vertical form as at 31st March 2017 from the information of [15]
Vrunda Lid as required under Scheduled VI of the Companies Act. Also give notes

required.

Debit Balances Rs. Credit Balances Rs.
Long term advances 372000 | Term loan secured 1004000
Staff advance 55000 | (Current maturity 200000) ’
Loose tools and stores 450000 | Security premium 475000
Investment non current 225200 | Loan from subsidiary 200000
Loss for the year 300000 | company (Short Term)

Trade receivables 1225000 | Trade payables 1145000
Preliminary Exps 58000 | Provision for taxation 170000
Cash on hand- 75000 | Provision for doubtful debts 20200
Bank Balance 200000 | General reserve 2050000
Integible assets (WDV) 4600000 | 30000 Equity shares of 3000000
Finished goods 750000 | Rs, 100 each’
Capital work in progress 200000 | 12% Cumulative preference | 1000000
shares of Rs. 100
9060200 9060200
OR

Q.1 Prepare Profit & Loss Statement for the year ended on 31st March 2017 and [15]
Balancesheet as at 31st March 2017 for B.J. Ltd. under schedule VI of the
Companies Act-1956 with imaginary figures.

Q.2 Give a brief idea about the methods uséd in analysis of financial statements. [15]
OR
Q.2 What are financial statements ? State their characteristics and objectives. [15]
Q.3 The following accounting informations of Ami Ltd are obtained as an 31-3-2017, [15]
. RS. .
Sales (60% credit) 300000
Cost of goods sold 156000
150000
Administrative and Selling exp. 50000
Profit before tax 160000
Taxation (50%) - 50000
Net Profit 50000
Balancesheet as on 31-3-2017
Liabilities Rs. Assets Rs.
t0% Pref. Share Capital | 200000 | Fixed Assets 550000
Equity Share Capital 200000 | Debtors 30000
Reserve and Surplus 100000 | Stock 20000
10% Debentures 110000 | Bank Balance 20000
Creditors 15000 | Bills Receivable 10000
Bank Overdraft 10000 | Preliminary Exps 10000
Bills Payable 3500
Ofs Salaries 1500 _
' 640000 640000




Q.3
(A

(B)

Q.4

(M

2
(3)

Q.4

Opening stock was Rs. 30000, Assume 360 days in a year.

Compute the following ratio and give a brief cormnment on each,

(1) Gross Profit Ratio  (2) Net Profit Ratio (3) Current Ratio (4) Liquid Ratio
(5) Stock Turnover Ratio (6) Debtor's Ratio  (7) Operating Ratio _

OR

From the following information calculate
(1) Gross Profit Ratio
(2) Net Operating Ratio
(3) Net Profit Ratio

Rs.
Net Sales 500000
Cost of goods sold 350000
Selling Exps 12000
Administrative Exps 3000
Interest income 5000

Loss on sale of ild machine 12000

From the following information, determine opening and closing stocks.

[f stock turnover is 5 times, opening stock is Rs. 5000 less than the closing stock and
average stock is Rs. 20000. Find out purchases.

Patel Traders Ltd purchased a running business of a partnership from as on lst
January 2016, The company was incorporated on lst May 2016. The following are
the particulars for the year ended 3 1st December 2016. .
The sales for the whole year ended 31-12-2016 amounted to Rs. 2400000, out of
which Rs. 400000 related to the period from 1-1-2016 to 1-53-2016.
The trading account showed a gross profit of Rs. 960000.
The following items appear in Profit on Loss account.
Director's Fees - Rs. 15000, Audit Fees - Rs. 7500
Rent on rates - Rs. 48000, Staff salaries - Rs. 120000
Bad debts - Rs. 20000 (Out of which Rs. 7000 related to debtars before 1-3-2016)
Debenture interest - Rs. 60000
Depreciation on Plant ané Machinery - Rs. 36000
Preliminary expenses - Rs. 24000
General expenses - Rs. 18000
Cormmission on Sales - Rs. 36000
Printing and Stationery - Rs. 24000
From the above information, prepare a statement showing pre-incorporation profit
and post-information profit.
OR
What are pre incorporation profits 7
(A) How do you calculate it 7
(B) Give journal entries relating to profit prior to incorporation.

(10}

[05]

(15]

[08]
[07]
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Q.1

Q.1

0.2

Q.2
(1
(2)
(3)
4
(3)

Q.3
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SARDAR PATEL UNIVERSITY
B.Com (III Semester) (2010 Batch) (General & Honours) Examination
Wednesday, 29 November 2017
10.00 am to 12.00 pm
UBO3ECOMO2/18 - Advanced Cost Accounting

(A) Discuss the advantages and limitation of Cost Accounting.

(B) Give the proper methods of Costing of the following industries.
{1) Oil Refimery  (2) Construction Industries (3) Printing Press
{4y Brick Works (5) Road Transport {6) Hotels

' OR

(A) Explain the Techniques and Methods of Cost Accounting.

(B) Give the proper methods of Costing of the following industries.
(1) Paper Ml (2) Railway Transport (3) Cement Industry
{(4) Electricity  (5) Flour Mill {6) Computer Industry

(A) Explain the meaning of Labour Turnover rate 7 Narrate it's causes and
MSASUres.

(B} Amar has taken 36 hours to complete 4 job.The wage rate per bour 13
Rs. 10, [f he has received Rs. 432 as total wages according to Rowan plan
what would be the amount of wages earned by him according to Halsey
nlan and piece wage plan. T

OR

{A) From the following information calculate

Re Order Stock Level

Minimum Stock Level

Maximum Stock Level

Average Stock Level

Danger Stock Level

(1) Maximum delivery Period 45 days
(2) Average delivery Period ' 35 days
(3) Minimum delivery Period 25 davs
{4y Maximum delivery Period for Emergency purchase 3 days
(5) Maximum rate of consumption per day 30 units
{6) Average rate of consumption period 25 units
{7) Minimum rate of consumption per day 20 uniis
(8) Ordering Quantity 600 units

Total Marks: 66

[0}
105]

—
[
L

[

[10]

(B) Ami Ltd purchases a giver material in quantity of 12000 units. Whicnh isits  [03]

consumption for & months cost per unit is Rs. 20 Cost of Placing an
Order is Rs, 100 Cost of Storing is 25%.
Calcutate Economic Order Quantity

1 ]

Calculate the machine hour rate in respect of Machine ‘A

information,

Price of the Machine - Rs. 83750
Scrap value of the machine - 6000
installation charges - 2250

Useful life of the machine - 8 years
1

from the foliowing [15]

&




Rent and rates of the factory
Per month Rs. 300

Three other similar machines are arranged in the total space of the factory.

[nsurance premium of Machine 'A'
0.5 % (Per three months)

Power consumption of Machine 'A’
Rs. 15000 (Per annum)

Electricity for the factory

Rs. 750 (Per two months)

Machine 'A’ is using 5 High points out of total 15 light points in the factory.

Wages of workers
(Per worker per annum) Rs. 800

There are three workers in the factory who look after all the machines equally.

Labour Welfare Expenses
{Per worker per annum) 1200
Supervisor's Salary

(Per month) Rs. 3000

Supervisors spends 3/4 of his time in supervision on the machine.
Hire purchase installment of machine 'A’

(Including interest Rs. 862=50)
Rs. 5000 (Per Six Months)

Repairing and Maintenance of machine 'A'

{During useful life) Rs. 20000

Power consumption of Machine 'A’ is 2 units per hour Rate per hour is Rs. 1=30.

In a factory there are three production departments A, B and C and two service  [15]
department D and E. The details of the expenses during 2015 are as under

OR

Indirect Wages 1300

{nsurance 3300

Canteen expenses 6600

Lighting 2060

Rent and Rates 5000

Contribution to ESI 630

Depreciation 16500

Power 9000

Factory Manager Salary 18600

| Particulars A B. C, D. E.
Lighting Points ) 5 4 3 2
Direct Wagss (Rs.) 4500 | 400G | 2800 1200 400
Cost of Machine 72000 | 48000 | 38000 | 1200 1200
Horse Power of Machine 4 8 2z - -
Space Occupied (Sq. ft.) 600 400 500 300 200
Proporiion of time devoted by 5 4 3 2 1
factory managsr
Mo. of Workers 5 6 4 3 2

The benefit of service depariment D and E is derived

by the other

departments in the following proportion
Particulars A B C | D E
Dept. D 20 % 30 % 40 % -- 10 %
Dept. E 30 % 40 % 0% |- i~

2




Q.4

Prepare as statement showing :
(1) Distribution of overheads to various department.
(2) Distribution of expenses of service department o production department.

Shivam Ltd manufactured and sold 1000 TV in the year 2015, Its summarized
irading and profit loss A/c. for the year 2015, '

To cost of Material 160000 | By Sales 300000
To Direct Wages 240000
To Manufacturing Charges 100000
Gross Profit 300000
800000 800000
Mat. and Staff Salaries 120000 | By Gross Profit 300000
Rant Rates and {nsurance 20000
General Exp. 40000
Selling Exp. 60000
Net Profit 60000 .
300000 300000

For the year 2016 its is estimated that

(1) The out put and sales will be of 1200 TV.

(2) Price of Material will rise by 20 %

{3) Wage rate wili rise by 5 %.

{4y Manufacturing charges will increase in proportion fo the combined cost of
material and wages.

{35) Selling expenses per unit will remain unchanged.

{6) Other expenses will remain unaffected by the rise in output.
Prepare a statement showing the price at which TV to be manufactured in
2015 should be marketed so as to show a profit of 10 % on selling price.

OR
The foliowing is the Trading and Profit and Loss A/c. of a manufacturer of the
year ended 31st March 2015,

To material consumption 58300 | By sales 150000
Direct Wages 37220 | By Closing Stock
Work Expenses 28110 | of Finished Goods 3625
Gross Profit 41055 | Work in Progress

Material - 5600
Wages - 3120

Work Exp. - 2340 11000

164685 164685
To Administration Exp. 27300 | By Gross Profit 41055
Net Profit 13755
41085 41055

During the year 3100 articles were manufactured out of which 3000 articles
have been sold.

The costing records show that works expenses worked out at Rs. 825 per
articles and Administrative Exp. at Rs. 9 per articles. The costing books show a
net profit of Rs. 14250,

Prepare - Works overhead, admini. overhead A/c.

- Reconciliation Accouni
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(7]  SARDAR PATEL UNIVERSITY
SYBCOM —EXAMINATION
SEMESTER-ITI

Saturday, 25" November, 2017
10.00 3.M TO1200 P.M.
SUBJECT: RETAIL MARKETING
CODE: UBG3ECOMOS
Note: 1. Figure to the right indicates full marks. '
2. All questions carry equal marks.

No. of Printed F‘azéé‘

L]
L

Total Marks: 60

Q.1 Diiferentiate between organised retailing and unorganised

retailing.
OR
Q.1 Discuss trends in retailing with examples.
Q.2 Explain inventory management in retailing.
OR

Q.2 Discuss factors affecting retail location.

Q.3 What are the different factors wouid you consider whiie

developing integrated marketing communication?

OR
(2.3 Discuss importance of customer service in retailing.
Q.4 What is retail marketing research? Discuss process of retail
marketing research.
OR

Q.4(a) - Write a note on primary data

(b) Wirite a note on retail information system

s et

(15)

%, B

04
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(5] SARDAR PATEL UNIVERSITY

VALLABH VIDYANAGAR - 388 120
B.Com THIRD SEMESTER (CBCS) EXAMINATION
THURSDAY, NOVEMBER 30, 2017

UBO3ECOMO6 RURAL MARKETING

TIME:10.00 AM. TO 1200 P.M. ' TOTAL MARKS: 60

Note: Figures to the right indicate marks.

Q.1

Q.1
Q.2
Q.2

Q.3

-

)

Q.4
Q.4

Draw diagrams and cite examples wherever necessary.

Explain the concept of Rural Marketing and Discuss the nature of rural (15)
market.
OR
Discuss the scope and the importance of Rural Marketing. (15)
Explain the factors affecting consumer behavior. (15)
OR
Describe in detail the Consumer Buying Decision Process. (15)

Elucidate the concept and the significance of Product Strategy. Briefly

Explicate Product Mix Decision. (15)
' OR

Describe the stages of new product development process. (15)

Clarify the concept of Pricing and explain Pricing Objectives. (15)
OR

Write a note on:

(a) Pricing Methods
(b) Distribution and Promotion Decision affecting Rural Marketing.




(8] A-0] SARDAR PATEL UNIVERSITY  SEAT No,

NOVEMBER 2017 }%@E_?rém&@ Pages : 3
SEMESTER —II B.COM
CODE- UB03ECOM(Y
- BM-V (MARKETING MANAGEMENT - I)
DATE: 25/11/2017 | TIME: 2068 m.To 12:00p.m.
DAY: SATURDAY | TOTAL MARKS: 60
M3 Al question carry equat h{u“im

Q 1 What do you mean by Marketing and Marketing Management? Explain its significance in

detail with exa}nples. (15)
OR
Q1 What do you mean by Marketing Management? Explain its functions in detail (15)
Q 2 What do you mean by Product? Explain product mix in detail (15
OR |
Q 2 “Development of New Product creates win win situation for the marketer” do you agree?
Comment it. Explain its procedure in detail (15)
Q 3 What do you mean by Pricing? Explain its purpose in detail (15)
OR

Q3 Priceis like pc;werful weapon in the hands of marketer who itself capable of beating the
opponents, do you agree? Explain its different techniiques in detail with suitable

illustration. (15)

Q 4 Write a note on: Kinds of Channel of Distribution | (15)
| OR

Q 4 Write a note on: Factors affecting channel of distribution (15)

.——-—/_)(._—m—-'
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UBO3ECOM10 : BM-VI (Marketing Management-11)
Total Marks : 60

Q.1 Explain the various core concepts of Marketing. (15)

OR
Q.1 Write short notes : (15)
(A) Marketing Mix
{B) Marketing Environment

Q.2
(A) Discuss the factors affecting consumer behaviour. (08)
(B) Explain the buying decision process. (07)
OR
Q.2 What is Market Segmentation? Explain its bases. (15)
Q.3
(A) Explain the stages of Product Life Cycle. (08)
(B) Classification of products. (07}
OR
Q.3 Write short notes : (15)

(1) Importance of branding and packaging.
(2) New product development process.

Q.4 Explain the meaning and importance of Marketing Communication.  {15)
OR

Q.4 Discuss the various pricing methods and its strategies. (15)
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~UB03ECOM12: ADVANCED BANKING -- VI
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SEAT No. No. of Printed Fage : 04
SARDAR PATEL UNIVERSITY ©- = .o
.17 27  s..B.COM. lI-SEM (Honours) {Corporate Banking and Insurance)
EXAMINATION, NOV/DEC 2017
25 NOVEMBER, 2017, SATURDAY
10.00 To 12.00 PM
SUBJECT: LAW AND PRACTICE OF BANKING
UBO3ECOMI15
Moy Maeltt: 60
Q.1 (A) Explain the Procedure to Opening an Account in Bank, 08
(B) Who (different types of customers) can open the Bank Account? Explain in depth. 07
OR
(.1 (A) Write 2 note on stop payment. 07
(B) Dishonor of Cheque: Meaning and Reasons. 08
Q.2 (A) What is “crossing of cheque”? Explain various types of crossing on Cheque. 15
OR
0.2 (A) What is “ENDORSEMENT” Negotiable Instrument Act, 18817 Iis features and
Various types of endorsement. 15
Q.3 (A) What do you mean by “Paying Banker? Explain with specimen.
With Various DUTIES of “Paying Banker”. 15
OR
Q.3 (A) Not'e on: Banker ~customer relationship. 07
(B) Termination of banker ~customer relationship. 08
Q.4 Write any ONE i5
(A)Merchant banking and its functions.
(B)Safe deposit facility offered by Bank.
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SARDAR PATEL UNIVERSITY = S

Tiall B.Com Examination, Third Semester: ?‘."&“ P Fainiag Con + 02
SEAT No,

Saturday, Date: 25/11/2017
Session : Morning Time :10.00 Am to 12.00 Pm
Subject / Course Code: UBO3ECOM17 ~ Computer Applications V
Subject / Couse Title : Computerised Accounting System

Total Weightage/ Marks: 30

Que : 1 - eefl wlsiGela Alzew ¢ 87 2l ERP 9 <l [dludiil spudl, ()
ALET)
(@) Zsin avil. Gateway of Tally. (¥)
~(b) 24l viqasil Liabilities »i-l Debtors (34 uud). (3)
Que:2 (a) Current Assets vid Indirect Expanse Ju (Ad aumdl, (¥)
(b) - cdlui Ad) fudl el ey @i, o ()
TR .
(a) Direct Expanse vid Sundry Creditors 94 (93l uuedl. (¥)
(b) 2dluiMultiple Ledgers dlladisi Reuaml. — (¥)
Que:3 2eflMi viiads [y visGe2lol NGU d-t Guaiol A yudl.  (¢)
S wYdl .
Non Accounting Vouchers (44l gs-it qvil, (¢)
Que: 4 cetlul wliady [Afay iz <l 4l »0d) Trial Balance (e)

Wil ] d 2l 3ol Ad ool usia ? wmemdl,

Yl .
(a) 2dlui Bank Book i< Sales Register (48 uuadl. (¥)
(b) 2dlui Group Summary {Agl Axedl. (3)
| ey e} Guaeh)




SEATNO.. e SARDAR PATEL UNTVERSETY
" B.Com Examination, Third Semester
Saturday, Date: 25/11/2017
Session : Morning Time :10.00 Am to 12.00 Pm
Subject / Course Code: UBO3ECOM17 — Computer Applications V
Subject / Couse Title : Computerised Accounting System

Total Weightage/ Marks: 30

Que : 1 What is Tally Accounting System ? Explain specialties (7)
 ofTally ERPO. |
OR
(@) Write Short note. Gateway of Télly. | (4)

(b) Explain about Liabilities and Debtors with reference to Tally.  (3)

Que:2 (a) Explain about Current Assets and Indirect Expanse group. (4)
(b) Write steps to create new company in Tally. (4)

(a) Explain about Direct Expanse and Sl'..l'rid'ry'Cfed'it:ors group.  (4)

(b) Write steps to create muitiple ledgers in Tally. (4)

Que:3. Explain different vouchers available in Tally with its uses. (8)
| _ | oR .

Write short note about Non Accounting Vouchers. (8)

Que : 4 List different reports a\)ailable in Tally. Explain importance (7)

of Trial Balance and write how we can see Trial Balance

in Tally.
- lYgl
{a) Explain about Bank Book and Sales Register in Tally. (4)
(b) Explain about Group Summary in Tally. (3)
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SeatNo: " | No. of Printed Pages: 2 (Two)
[§)  SARDAR PATEL UNIVERSITY
B. Com Exammatlon, Semester - IT1
o _ Thursday, Date: 30/11/2017 .
Sessmn Mornmg - Time: 10 500 AM to 72300 PM
Sub_]ect / Course Code: UBO3ECOMI8 Paper No. A
Sub;ect/Couse Title: Computer Application - VI
Z_houi's S Total Weightage/ Marks: 30
Marks
Q1. | What is Computer Network? What are the advantages of Computer '
Network?
OR !
Explain different Network Topology.
Q2 | Whatis Internet? Write the history of Internet and explain how Internet
works. L ’
Write short notes on :
(i) www
(i) Modem/Router
Q-3 Write the steps to create an Email account, . L e |3

OR

Explain following in connection of Email :

(i) Reply
(i)  CC/BCC
(iii) Forward
(iv) Spam

; T Al partenie o, sl

Q4 |\What is Social Networkmg‘? Write the advantage and dlsadvantage of |74
| social networking in Business.

OR

Q-4i----| Write short notes on Facebook énd_ TWit{er

CRT.09




SeatNo:____ _ : ' No. of Printed Pages: 2 (Two)

SARDAR PATEL UNIVERSITY
B.Com Examination, Semester 11X
Thursday, Date: 30/11/2017
Session: Morning Time: 46:00 AM to 12.00 PM
Subject / Course Code: UBO3ECOM18 = Paper No. VI
Subject / Couse Title: Computer Apphcatlon -VI )

2howrs . .- Total Weightage/ Marks: 30
' . . 7 Marks
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Date : 30 - 11 - 2017 (Thursday)

URe1R uda YRaR, acam [Qenmoir

B.COM. SEM - III (Nov. - 2017)
Subject Code : UBO3ECOM2

- . SUB : Advance A/c & Auditing Paper - VI

(Principles of Auditing)

Time :40.00 &.m. t012.00 p.m
Total Marks : 60
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SEATNo_____ o
[Li, 7S] SARDAR PATEL UNIVERSITY, VALLABH VIDYANAGAR % i c2
B. COM. SEM 3 (NOVEMBER 2017 EXAMINATIONS)
SUBJECT CODE: UBO3ECOM02
e ADVANCED ACCOUNTING AND AUDITING PAPER-VI

(PRINCIPLES OF AUDITING)

DATE 30-11-2017 (Thursday) TIME10-00 A. M. TO4%00 P. M. TOTAL MARKS: 60

Q-1 (A) Explain Characteristics of Auditing. (08)
(B} Explain Scope of _Au_di_ti_ng. . _ L (07)
QR
Q-1 Explain difference between Accountancy and Auditing. | (1s)
Q-2 Explain difference between COllt:i.l‘ll.l;{).l.iS Audu and Annuél Audit:. - (15)
OR
Q-2 (A) Explain Disadvantages of Audit Program.me. - I (08)
(B) Write short note on Auditor’s Working Papers. 07
Q-3 Do Investigation on behalf of Purchaser of Business (15)
- OR
Q-3 Explain difference between Internal Check and Internal Audit. . . . (15)
Q-4 (A) Explain Auditor’s Duties regarding V(__)uchigg. S L (08) .
(13) State Characteristics of Good Voucher._ L _ | | - (07)
Q-4 (A) Do Vouching of Cash Receipts from Debtors. : (08)
(B) Do Vouching of Purchase of Fixed Assels. 07)
- W CRT.09
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SEAT No. S R )]

(2,48 ﬂ*fj] Sardar Patel University
B Com Semester 11l Examination
Monday, December 04, 2017
Time: 10:00 am to 12:00 noon
English & Business Communication -
UB03FCOMO01/02 (New course)

Marks:60

Q. I Attempt the following questions: (15)
1). How did Danglars,Fernand Mondego and Caderousse hatch a plot to get Edmond
Dantes arrested?
2). Draw a character sketch of Abbe Faria,
OR
Q. 1L.Attempt the following questions: (15)
1). Draw a character sketch of Edmond Dantes.
2). Comment on the end of the novel.

Q.2 .(A) Write a brief note on any one of the following: (05)

1). Father Bussoni’s meeting with Caderousse

2). Mercedes
Q.2 .(B) Read the following passage carefully and answer the questions that follow:  (10)

Foreign collaboration implies a business partnership between an Indian entrepreneur and
a foreign entrepreneur. It may be a technical collaboration wherein the foreign participant
provides advanced technology and technical know-how to the Indian partner. Tt may be a
financial collaboration wherein the capital is contributed jointly by both the parties. Generally, a
foreign collaboration involves sharing of both technology and capital.

In recent years several foreign collaborations have taken place in India. In the public
sector Maruti Udyog Limited is collaboration between Government of India and Suzuki Motors
of Japan. In the private sector Tata Dalmier Benz,Birla Yamaha gensets, Shri Ram Honda
gensets are some of the examples of foreign collaborations.

Foreign collaborations provide the much needed technology and foreign capital to Indian
firms. Such collaborations help to improve product quality and professional management. These
also increase export possibilities for Indian business houses and their compentwe strength is
improved. Foreign brand names become available.

Foreign collaborations have been criticized on many grounds. These collaborations result
n large outflow in the form of royalties, fees and dividends. Very often the foreign partner
shares outdated technology and insists on its control. Foreign collaborations are said to kill
Indian entrepreneurship and indigenous technology.

Questions:

What is a foreign collaboration?

What is a techmcal collaboration?

Write the names if the foreign collaborators.

How do collaborations help?

On which grounds foreign collaborations have been criticized?
OR

Sl el e
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Q: 2. (A) Write a brief note on any one of the following: (03)
1). The opening of the novel the Count of Monte Cristo

2). Haydee ,
Q.2 (B) Read the following passage carefully and answer the questions that follow: {10)

‘Electronic waste, or e-waste, is a term for electronic products that have become
unwanted, non-wotking obsolete, and have essentially reached the end of their useful life. Rapid
advances in technology up gradations in software and hardware, fashion and trend changes, high
consumerism, to name a few, are factors that create e-waste. Outdated and older electronic and
electric devices become ‘trash’ or are deemed ‘useless’, and end up in landfills without proper
recycling. Most electronic items that are thus discarded contain one form or other of toxic
elements such as beryllium, cadmium, mercury, lead and acid fumes. Although they occur in
trace amounts, their cumulative effect when exposed to the soil results in extreme hazards for
workers as well as the environment. What is more, more than five lakh child labourers are
engaged in illegal management of e-waste. Besides this, improper disposal of e-waste is a
recycling opportunity lost since almost all electronic waste contains some form of recyclable
material, including plastic, glass and metals.
Questions:

1. What is e-waste?

Which factors are responsible for e-waste?
Which toxic elements are mentioned in the passage?
Who are engaged in illegal management of e-waste?
Find out synonyms for the following from the passage:
{a) danger  (2) fast
Q.3 (A) Discuss in detail the semantic barriers to communication. (10)

e

(B). Write a note on downward communication and its objectives and limitations. ( 05)

OR
Q.3. Write short notes on the following; (15)
1. The upward communication
2. The horizontal communication
3. Socio-psychological barriers to communication

Q4. (A) Draft a letter of complaint from Prime Furniture Mart, Anand to Supreme Steel
Furniture, Rajkot for receiving the consignment of steel furniture in a damaged condition.(07)
Q.4. (B) Inspite of your previous reminders, the customer has failed to pay the overdue amount
for a long time. Write a collection letter strongly insisting to settle the account in full without
further delay. (08)

OR
Q.4.(A) Write a letter of apology on behalf of Raymonds Retail Shop, Vadodara to the custorer
who has complained of incivility shown to him when he visited your shop last week.

(08)

Q.4.(B) Inspite of several reminders, the customer has neither paid the amount nor has replied to
them. Write a collection letter threatening legal action if the amount is not paid in a week. !

******************************%*****************************:’s***



SEAT No. Mg oo Turg Pang, 0o

B’”'LM A} Sardar Patel University
B Com Semester III Examination
Monday, December 04, 2017 -
Time: ,:00 m to 00 pm
English & Business Communication - T
UBO3FCOMO1 (Old Course- Before 2016)

Mariks:60
Q. 1 Attempt the following questions: ' ' (15)
1}.Importance of the opening scene of the play the Doll’s House. :
2). Comment on the title of the play.
- “0OR
Q. 1.Attempt the following questions; (15)
1). Draw a character sketch of Nora.
2). Discuss the end of the play the Doll’s House.
Q.2 .(A) Write a brief note on any one of the following: ' - (05)

). Dr.Rank
2). Mrs.Linde

Q.2 (B) Read the following passage carefully and answer the questions that follow: (10}

Packaging is among the high growth industries in India and developing @ 15.20% per
annum and becoming a preferred hub for packaging industry. Currently the 5" largest sector of
India’s economy, the industry has reported steady growth over past several years and shows high
potential of much expansion, particularly in the export market. Cost of processing and packaging
food can be lower than parts of Europe which, combined with India’s resources of skilled labour,
make it an attractive venue for investment. A high degree of potential exists for almost all user
segments which are expandmg appreciably- processed food, hald and soft drinks, frait and marine
products. S
The Indian packaging industr y has made a mark with its export that’ comprise flattened
~ cans, printed sheets and components, crown cork, lug caps, plastic film laminates, craft papet,
paper board and packaging machinery, while the imporis include tinplate, coating and lining
compounds and others.

Questions:
1. Which is the 5‘h largest sector in India?
2. Write the names of user segments?
3. What has made India attractive venue forinvestment?
4. What products are imported by the Indian packaging mdustry‘?
5. Give the passage a suitable title,

OR
Q. 2. (A) Write a brief note on any one of the following: (05)
1). The role played by Krogstad
2). Torvald Helmer

CAT O,




Q. 2 (B ) Read the following passage carefully and answer the questions that follow: (10)

“The current financial year (fiscal 2018) promises to be an exciting one for the two-
wheeler industry. In general and for Hero MotoCrop in particular,” maintains Pawan Munjal
chairman and Managing Director of the company.

Pointing out that “in the first quarter (April to June 2017) of the current fiscal we further
consolidated our domestic motorcycle market share by clocking all time high sales in the
quarter,” Mr. Munjal adds “the growth in the domestic market was aided by an improvement in
overall market sentiment and robust demand for our range of two-wheelers. Hero’s global
business team has been engaged in brand building and customer engagement initiatives, which
has resulted in muitlple Latin American and Asian markets also reporting encouraging growth
during the quarter.”

The company has planned for the launch of several new products from its world-class
Centre of Innovation and technology.

Questions:
1. Who is Pawan Munjal ?
2. What did help growth in the domestic market?
3. Explain the role of the global business team?
4, Which markets are mentioned in the passage?
5. Give the passage a suitable title.

Q.3 (A) Discuss in detail the socio-paychological barriers to communication. (10}
(B). Write a note on upward communication and its objectives and limitations. (05)

OR - _ _
Q.3. Write short.notes on the following; D S (15)

1 The downward communication
2 Advantages of the grapevine
3 The semantic barriers to communication
Q4. (A) Draft a letter of complaint from Vardhman Winterwear, Anand to Kashmir Wooliens
Ludhiana for receiving the blankets of inferior quality. L (07)
Q.4. (B) Inspite of your previous reminders, the customer has failed to pay the overdue amout for
a long time. Write a collection letter strongly insisting to settle the account in full without further
delay. - {(08)
OR
Q.4.(A) Write a letter of adjustment on behalf of Modern Steel Furniture Mart,Surat to Supreme
Sales, Ahmedabad who have received the consignment of steel furniture in a damaged condition.
: (08)

(Q.4.(B) Inspite of several reminders, the customer has neither paid the amount nor has replied to
them. Write a collection letter threatening legal action if the amount is not paid in a week. (07)

********>:=5;******>I=**************}é********************************



SEATNo No. of Printed Pages : 03
(A-5] SARDAR PATEL UNIVERSITY
BCom (Sem - IT) EXAMINATION [2010 batch]
Monday, 27 November 2017
10:00 am to 12:00 noon
English and Business Communication - 111
UBO3FCOM02/04

Note: 1. Figures to the right indicate full marks to the questions concerned.
2. Your answers must be precise.
3. Maximum Marks: 60

Q-1 Attempt the following questions:
(a) Write a detailed note on the Opening of the play The Doll’s House.
(b) Who was Torvald Helmer? How does he treat his wife, Nora?

OR

Q-1 Attempt the following questions:
(a) Describe in detail the villainous acts of Krogstad.
(b) Write a note on the role played by Nora Helmer in the play.

Q-2 (A) Write a brief note on: (any one)
(i) Nora’s married life
(if) Dr Rank

(B) Read the following passage and answer the questions given below:

The great advantage of early rising is the good start it gives us in our day’s work. In
the morning the mind is fresh, and there are few sounds or other distractions, so that
work done at this time is generally well done. In many cases the early riser also finds
time to take some exercise in the fresh morning air, and this exercise supplies him with
a fund of energy that will last until the evening. All his work being finished in good
time, he has a long interval of rest in the evening before the timely hour when he goes
to bed. He gets to sleep several hours before mid-night, at the time when sleep is most
refreshing, and after a sound night’s rest, rises early next morning in good health and
spirits for the labours of a new day.

Anyone who lies in bed late, must, if he wishes to do a full day’s work, go on working
to a correspondingly late hour, and deny himself the hour or two of evening exercise
that he ought to take for the benefit of his health. But, in spite of all his efforts, he will
probably not produce as good results as the early riser, because he misses the best
working hours of the day.

CR.T.oQ
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In the frequency distribution of 100 families given below. The number of families
corresponding to expenditure groups 20-40 and 60-80 are missing from the table,
However, the mean is known to be 50. Find the missing frequencies.

Expenditure: | 0-20 ; 20-40 | 40-60 | 60-80 | 80-100

No. of families | 14 h 27 fa 15

State and prove addition theorem of probability for two events, Also discuss the cases
when two events are (i) mutually exclusive and (ii) Independent.

The probability of non-happening an event A is 0.3 and the probability of happening
an event B is 0.5. The probability of happening at least one of the two events A and B
is 0.8. Find the probability of happening both the events A and B. what is the
probability that none of the events will happen?

. {OR]
Define: (i) Random experiment (ii) independent event
(1ii) Mutually exclusive event (iv) equally likely event

Students A, B and C are given an example. The probabilities that they will soive the
example correctly are respectively %, % and ;. Find the probabilities that at least ane

of them will solve the example correctly.

[f for two event A and B, 2P(A4) = 3P(B) = 6P(4A N B) = 0.5 then
find (i) P(AUB) (ii) P(ANB) (iii} P(A/B)

Write properties of Binomial and Poisson distributions.

The mean and standard deviation of the wages of 6000 workers engaged in a factory
are Rs. 1200 and Rs. 400 respectively. Assuming the distribution to be normal
estimate: :
. Percentage of workers getting wages above Rs, 1600
[ Number of workers getting wages between Rs. 600 and Rs. 900,
HIL Number of workers getting wages between Rs. 1100 and 1500.

[OR]

The probability that a match stick is found without head is 0.01. Each match box
contains 50 sticks. Using Poisson distribution, find the probabilities that boxes having,
0,1 and 2 sticks without heads. [e %% = 0.6065]

The probability that a bomb dropped from a plane will hit a targetis 2/5. Two hombs
are enough to destroy a bridge. If 4 bombs are dropped on a bridge, find the
probabilities; (i) the bridge will be destroyed (ii) the bridge will be saved.

Qrreee®

Fage 2072

i8]

[7]

[e]

[4]

£5]

[6]

[7]

[7]

[8]



Note:

SEAT No.

[A-5] SARDAR PATEL UNIVERSITY
BCom (Sem - ) EXAMINATION [2010 batch]
Moaday, 27 November 2017
10:00 am: to 12:00 noon
English and Business Communication - i
UBG3FCOMO2/04

1. Figures to the right indicate fll marks to the questions concerned.
2. Your answers must be precige. '
3. Maximum Marks: 60

Q-1 Atfternpt the tollowing questions:

{a) Write a detailed note on the _Opening of the play The Doll's House.

(b) Who was Torvald Helmer? How does ke treat his wife, Nora?

OR

Q-1 Attempt the following questions:
(2) Describe in detail the villainous acts of Krogstad.
(b) Write a note on the role played by Nora Helmer in the play.

Q-2 (A) Write a brief note on: (arry one)
() Nora’s married life
(i) Dr Rank

(B) Read the following passage and answer the questions given below;
The great advantage of early rising is the good start it gives us in our day’s

MNo. of Prinfed Pages : 03

work. In

the moming the mind is fresh, and there are few sounds or other distractions, so that
work done at this time is generally well done, In many cases the early riser also finds
time to take some exercise in the fresh morning air, and this exercise supplies him with
a fund of encrgy that will last unti] the evening, All his work being finished in good
time, he has a long interval of rest in the evening before the'time]y hour when he goes
to bed. He gets to sleep several hours before mid-night, at the time when sleep is most
refredhing, and after a sound night’s rest, rises early next moming in good health and

spirits for the labours of a new day.

Anyone who lies in bed late, must, if he wishes to do a full day’s work, go on working
o a correspondingly late hour, and deny himself the hour or two of evening exercise
that he ought to take for the beneflt of his health. But, in spite of all his efforts, he will
probably not produce as good results as the carly riser, because he misses the best

working hours of the day.

CRTOJ

Ce.

13

15

05

10




QUESTIONS:

1. What are the advantages of early rising?
Why does the early riser get sound rest at night?
How does the late riser ruin his health?
What disadvantage has the late riser to face?
(Glive a suitable title to the passage,

SESCIEN

OR

Q-2 (A) Write a brief note on (any one) |

(1) Mrs Linde and Nora’s friendship .
(ii) The Ending of the play The Doll’s House

(B) Read the following passage and answer the questions given below:

A patriot is a man who loves his country, works for it, and is willing to fight and die
for it. Every soldier is bound to do his duty, but the best soldiers do more than this:
they risk their lives because they love the country they are fighting for. They love its
hills and valleys, its cities and viliages, iis people and their way of life; and they are
willing to defend it to the last against enetmies who try to conquer it and destroy it.

Why is it that some nations have disappeared altogether? Tt has nearly always been
because, when the great test came when everything depended upon the most active

-resistance to the tneny, not enough men and women were found ready to sacrifice.

themselves in order that their country and their follow countrymen might continue to
live.

Why is it that other nations, offen small in population and power when compared with
others, remain century after century free and independent in spite of great wars that
have been fought around them and even within their own borders? The answer is that
nowhere in such countries have men been found willing to yield to the enemy. For a
time they may have seemed to be at the mercy of a conqueror, but they have waited,

refusing. to give in, until at last the opportunity has come to destroy or drive out the
enemy, and win back their freedom.

QUESTIONS: ‘

What do you mean by the word “patriot’?

Why do soldiers risk their [ives?

How does a nation lose its freedom?

What is the reason for the continued independence of some nations?
Give a suitable title to the passage.

et
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Q-4

Attempt the following: ) 15
(A) Explain Socio-psychological barriers to effective communication,

(B) Discuss Physical barriers to effective communication with the help of suitable
itlustrations.

OR

Write brief notes on the following: 15
(A) How Grapevine operates in an organization
(B) Objectives of Downward Communication
(C) Horizontal Communication -

(A)Anushka Stores, Anand have received a consignment of  dryfruits from 135
Cindrella Dryfruit Suppliers, Goa. As from the Proprietor of Anushka Stores
write a letter of complaint to the suppliers informing them of the wrong goods
they have received.

(B) Westland Publications, New Delhi have received a letter of complaint from the
Proprietor, Anjali Book Store, Ashram Road, Ahmedabad stating that some of
the books they have received are found to be defective. As from the Manager,
Westland Publications draft a reply to the Jetter offering suitabie adjustment.

OR

{A)As from the Manager, Periwinkie Suppliers, Princess Street, Mumbai write a 15
letter to the Proprietor, Doshi & Co., Ashram Road, Ahmedabad drawing their
attention to the Overdue Account of Rs 2,55,000/-.

(B)As from Alpha Company Lid, Agra write a letter to the Proprietor,. Messrs
Solanki Bros, Mehemdabad who have not yet settled their fong outstanding
account, threatening to take legal action if the account is not settled within a

week.
pS







SeatNo._ ‘ No. of Printed pages: 02

5] SARDAR PATEL UNIVERSITY

B.COM EXAMINATION-Semester ITT (CBCS)
NOV./DEC.-2017
 MONDAY- 4™ DECEMBER, 2017
40,00 A, M. to 12,00 P.M.
UB03FCOMG2-Engtish & Business Commuanication-ITL
Total Marks 60

Q-1

Answer the following questions:
Give an account of how Edmond Dantes took revenge on Caderousse and brought
about his death and destruction. - ' (08)
How did Danglars, Fernand Monego and Caderousse hatch a plot to get Edmond
dantes arrested?” _ (07)
OR
Answer the following questions N -
How did Edmond Dantes reach the istand of Monte Cristo and find the treasure?  (08)

2. How did Edmond Dantes take revenge on Fernand Moandego? (07

Q-2

[A] Write a short note on Abbe Faria’s role in Dante’s life- ‘ (05)

|B] Read the following passage and answer the questions that follow (10)
Sales management is often described as the muscle behind marketing management
JIn fact; it does much more than providing the muscle. It is sales management that

translates the marketing plan into action. Sales management will remain an

indispensable and most important part of marketing management as long as
corporations employ salesman to win customers and influence their attitudes. In a
modern organization, sales managcment means the mahagement of the total’ sales
efforts, not just the supervision of the salesman. In fact, Sales management is to be
viewed as an integrated sub-system of marketing management.

The modern Sales executive has to assume total responsibility for planning, directing
and controlling the personal selling of the firm. His prime responsibility is no doubt
in the crucial area of selling but his task does not stop with the achievement of the
sales quotas. He has to create market standing and brand image. He is responsible for
bringing in the required profits, not merely sales volume.

There are many sales executives who plan and achieve big leaps in sales volume. But
it is often at the cost of profits. Sometimes converse happens. Sales executives are
over-concerned with gross margins and net profits and miss the volume of Sales.
Obviously, a happy balance between the two s required.

Questions: _
1. What aze the duties of a salesman?
2. What is the role of the sales management in the business?
3. What is expected of a sales executive today?
4, Marketing management is patt of sales management (True or False)
5. Give the meaning of ; indispensable, Crucial
- OR
[A] Write a shott note on Character Sketch of Mercedes {05)

[B] Read the following passage and answer the questions that follow (10)

In the twenty first century the world is a market. Trade and commerce are increasing
very fast. Goods are produced and introduced in the markets of the world. All this is
done by advertisements. Advettisements are a vital necessity of modern trade and
commerce.

CART.00




Q-3

Q-4

It is almost impossible to escape from advertisement, Hoardings stare down us from
the slides of the roads and jungles and slogans assaults our ears. Newspapers and
magazines are full of advertisements. Radio advertises different goods. Cinema
shows advertisements on the sﬂver screen. Television is a good medium to advertise
goods.

It is rightly said, “No advertisement, no business.” Advertisers are experts to
popularize their goods. They study the minds of their customers; understand the
tastes and current fashions of the people. Attractive and colourful posters, short and
sweet sentences catch the attention of the public.

Advertisements have many advantages. They enable customers to compare and

_contrast the different goods. They increage the circulation of the newspapers and

magazines. Newspapers and magazines are sold at the cheaper prices because of the
advertisements. Radio and television also carry advertisements. Hence we get
information and entertainment at lower prices. But there are a few disadvantages of
advertisements, They assault not only our eyes and ears but also our pockets. They
actually raise the cost of products. Bogus goods are exaggerated to cheat the innocent
customers. They disfigure the walls and make houses look ugly. Obscene
adverltisements appeal to the sexual instincts. However, they are a necessary evil, a
part and parcel of the modern trade and commerce.

Questions: '
1) “Advertisements are a vital necessity of modem trade and commerce.” Do you
agree? Why?

2) Where do you find advertisements?

3) How do the advertisers appeal to their customers?
4) Explain: “Advertisements are a necessary evil.”
5) Give meaning of: '

a) Hoarding b) Assault ‘
[A]  Explain Horizontal Communication in detail. (07
[B]  Write short notes on: . (08)

1) Physical Barriers
2) Status block, Closed mind and emotions as barriers to communication

OR
[A]  What is Downward Commumcatlon? Point out its advantages and
limitations. : 07)
[BI  Write Short notes on; . (08)

1) Misinterpretation of words, idioms and phrases as barriers to communication,

2) State of health and Group Identiﬂcatlon as barriers to communication.

[A]  You have received a parcel of crockery from parshuram pottenes & Ltd,
Chotila, Saurashtra. Some of the tea-sets have been found of inferior Quality. Draft a
letter of complaint to the supplier and ask for suitable Adjustment. (68)

[B]  Youhave received a letter from one of your old customers cdmplaining of late

delivery of goods. Draft a suitable reply. (07)
OR

[A]  You visited The Decent Department Store," 10, Janpath , New Delhi, on the

26" October, 2017 , but received discourteous treatment from one of the sales gitls.

Write a letter of Complaint to the Business Manager. : (08)

[B]  You have received a complaint from one of your customers in Baroda about
delay in the execution of his order for ready-made garments promised before Diwali.
Write a suitable reply explaining the circumstances which caused the delay and
promising a prompt adjustient, : (67)

—
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Q.1 Explain the concept of “Time Management” and  discuss its significahce in modern business
management,  (15)

OR
Q.1 Narrate : Basic principles of time management. {15)
d.z Discuss: ”Meetinags’:" éﬁd ”'Vis.i“tors” as typiciéf time wasters. (15)
OR

Q.2 Discuss the effects of office environment and internet on “Time Managemen't”(A's Time Waster)

Q.3Write Note On : {a) Ways to overcome “Time Waster” (8}
| (b} Budget for Time Management . (7}
OR
0.3 Discuss : Planning components and  Time Management. (15) .
Q.4 Narrate : Creative time management ideas. (15)
OR

Q.4 Discuss ; Application of Time Management. (15)

CAT.09)




[3/A-7-Guj.] Seat No. : I No of printed page : 2

SARDAR PATEL UNIVERSITY
B.Com. (III Semester) Examination
Friday, 1°' December 2017
10.00 am - 12.00 pm
UBO03SCOMO1 : Time Management

oifel = el cliggoll 28 Hsiell o1 €21 B,

H.1

Y.

M.

MH.3

M.3

MY

MY

Total Marks : 60

“apri 2AAlcel” ol VG 2U 59 A1 a5 el dulderti Agf Hera U s ()

AUal,
NI

A AUicototl UtAIatl Rigidlie] yelet 82,

“HAISIAL 2ial AR d AN Gi1ISell Yo 828l - gila s3.

2Yq)

AHY oi2NISetl €28l ddl3 dozrole Hal sAal aldicRRIe]l el a_m_i_ 53,

gsdllg avil t
(1) “a2 wpn8” (aarelel GuiRil.
(o1) 3 AA1clol A1 BEIFUA,

A&ql

AR ¥ loll E125) U MY A™YIGaof YAl 53,

RalicHs 2 Aol 2idall YFEA2A),
2Aql

A Aolofl GUABiciiaf eiet 520,

()

(1)

()

(o¢)

(09)

()

(1)

(2v)



Seat NO.....ovvvvrerevneins . ' No. of printed pages:02

E—i] SARDAR PATEL UNIVERSITY
o B.Com. (Se:niester-11T) Examination
~ Friday, 01* December, 2017
40,00 om to 12,00 pm
UB03SCOMO03 - National Service Scheme (NSS)-11
' ' Total Marks — 60

Q.1 Describe the different types of work which can be done at adopted village. 15

Q.-1 Describe the different types of work \?llich can be done by NSS volunteers in 15
slum area. :

Q.-2 Explain objectives of special camping programme, ' | 15

Q.-2 Describe list of activities during regulgrR as well as special camping, 15

Q.-3 Explain the concept of basic soft skﬂl Discuss the importance of soft skill. 15

Q.;3 What is report writing? erte a fe.;.)onoo]z belals;.s: of youil mst1tut10nal NSS 15

activities,

Q.-4 Describe which types of national and international day, weeks can be 15
celebrated through NSS unit. L
' : OR

Q.-4 Write notes on:
{A)Financial assistance for NSS actlvmes 07
(B)NSS Regional Center. .~~~ R - 08

CLT.0)
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Session: ovnfny . Time: £0:00 A.M. to 100 P.M.
Subject/Course Code: lu s Jo 3 Is [c o |m [0 Iﬂ Paper No.
Subject/Course Title: Human Rights Total Weightage/ Marks - (60)
G -1 Give the meaning of Human Right. Discuss problems related to .~ |
Human Rights. - | | (15)
on
Q-1 Explain the cbncept of Human Ri'ghts. Expla.in classification of
Human Rights. _ : - P SRR Lo (15)
Q-2 (a) Write a note on National Human Rights commiééibn _ (7)
{b) Discuss Human Rights stated in the constitution of India. -~ - - . . {8)
OR
Q -2 Explain the Human Rights of women ,children , and dalits (15).

Q -3 Explain internationa! covenant on Economic, -Social political and

Cuitural Rights -1966. (15
OR
Q -3  Discuss universal Declaration of Human Rights ;1948 i o (18) - :
Q -4  Write note : (a) Cyber Crime and Human Rights. (7
{b) Environmeht and Human Rights. 8
Q -4 Explain the protection of Human Rights -1993 S | {15)
v — o T. 04
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[68A-3-Ens.] SARDAR PATEL UNIVERSITY
‘BCOM SEM-III (CBCS) EXAMINATION
2017
Friday, 1 December
- .10.00 g¢.m. t042.00 p.m. - .
- UB03SCOMO05-Rurban Development

Maximum Marks: 60

Note: 1. Write your answer according to its weightage.

2. Figures to the right indicate full marks of the questmns

What do you mean by rural development? Explain in detail characteristics and structure of
Rural Development. :

OR

£xplain Gandhian Model of Rural Development in detail.

Define Urbanisation. What are the causes and effects of urbanization?
OR

What is migrat'ion?' Explain various types and causes of migration.

Explain the concept of rurban development. Explain in detail the rurban morpho!ogy in
Gujarat .

OR

What are the obJectlves of rurban development‘? Explam rurban deveiopment plan in
Gujarat.

Explain current schemes of rurban development in detail.

B Explain the future challenges of rurban development in detail.

OR

Explain any one village of state of Gujarat as model rurban village,

**************#**%**##********
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Q1. (&) What is Word Processing? Write the uses of Word Processor. 7
(Word Processing 324 9? Word Processor 1 Gualall «suid).)
(b} Explain Bullets & Numbering and Change Case in Ms-Word. 8
{Ms-Word | Bullets & Numbering 4% Change Case auidl.)
| OR
{a) What is table? Describe how to create table in MS-Word, , 7

(Table ¥zl §? MS-Word i table ¥l 3Q wi-lasdl & oraudl.)
{b)  Explain various dptions of Font Tab. | 8
(Font Tab W ziladt %&l %el Cusell amandl)
Q2. (a) What is a Spreadsheet? Write the uses of Spreadsheet. 7
| (Spreadsheet 9zA 47 Spreadsheet AL Gualol #dl.) :
{b) Explain the following Functions with proper examples. 8
(1A (BB Ao GeagrgL 20 ewﬁch.)

1. MID {) 2. AVERAGE { ) 3. PRODUCT () 4.1F ()
OR
{a) What is cell addressing? Explain dh;-ferent types of cell addressing available in MS-Excel. 7
{Cell addressing 9128 ¢ 9 MS-Excel Hi Gutiey, %1 %EL 151l cell addressing ueridl.)
{b) Explain various Charts in Spreadsheet. 8
(Spreadsheet Wi (A% sl 2 1. ) |

Q3. (a) What is Presentation? Explain uses of Powerpoint. 7
(Aot A2 4 § Powerpoint 41 Gualoll Audl. )
{b) Explain Slide Animation and transition in Powerpoint. : 8
{(Powerpoint ¥i Slide Animation »tA transition 2tu214l. )
OR
(a) Explain the Slide Layouts in Power ‘point. 7
{Power point ¥{ Slide Layouts 414, ) -
{b} How to insert picture, sounds and chart in Powerpoint slide? 8
{Powerpoint slide %i (41, wienyr w1 wif 3] A GRzal §)
Q4. ({a) Explain DropCap and Autotext facility in MS-Word with examples. 7
7 (MS-Word i DropCap 2t Autotext Geis2gl i Auaidl, )
{b)  Explain Mail-Merge in detail. (Mail-Merge (Ri2dd fla 2uidd.) 8
OR
{a) Write the steps to link files and slides to your presentation, : 7

(Power point AR i gttt A vantls A el sren uiRAL Ry avik.)
(b) What is Macro? Discuss the procedure to create and execute with example in Ms-Excel. 8

( Macro Azl 4 § MS-Excel ui Macro  create 217 execute seetel W(bauedl a2 3.
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NOTE:

0.1

Q.1

o

6

Each MCQ carries one mark.

What ts Reasoning Ability? Explain the main types of reasoning ability in detail.

Explain importance of aptitude.

OR

Marks: 60

[08]
o)

What is entrance examination, list out the name of entrance examination and [15]

explain any one of them in detail.

Look at this series: 36, 34, 30, 28, 24, ... What number shouid come nc‘(t?

A.20 B.22 C.23 D. 76

Look at this series: 14, 28 20, 40, 32, 64, ... What number sljould come next?
A 52 .B 56.7 C. 96 D. 128

Wlmh wo:d does NOT belong with the othem’ B

A.LOULh B. rug C. tab]e o D. chair

JAK, KBL, LCM,MDN,

A, OCP B. NEO C. MEN D. PFQ

BCB, DED. FGF, HIH, -

AL JK] B .l D.JHI

A. P, R X, S and Z are sitting in a row. S and Z are in the centre. A and P are at
the ends R is sitting to the left of A. Who is to the right of P ?

A A B. X C.S D.Z

For gque 7 and 8

Six fr ;Lnds are sitting in a circle and are facing the Leut:e 01 thc urcle
Deepa is b(,tween Prakash .md Panka; Priti is betweua Mukcsh .md Lallt

Prakash and Mukesh are opposite to each other.

(P T.0)

{15]




Q3

9 N

10

11

12

13

14

o
h

Who is sitting right to Prakash ?

A. Mukesh B. Deepa C.Pankaj . D.Lalit
Who are the neighbours of Mukesh ?

A. Prakash and Deepa ‘ - B. Deepa and Priti

C. Priti and Pankaj 7 D, Lalit and Priti

From the following choose correct spelling.

A. Acommodation B. Accomodaton

C. Accommodation D. Acomodation

FILTER:WATER

AL curtail:activity 3. expunge:book

C. edit:text D. censor:play
LIGHT:BLIND |

A. speech:dumb B. language:deaf

C. tongue:sound D. voice:vibration

To beg the question

A.To refer to B. To take for granted
C.To raiée objections ' D. To be di:scussed

A person of good understanding knowledge and reasoning power

A. Expert B. Intellectual C.Snob D. Literate
Which number is suitable for M+C-F?
A 10 B.9 C. 11 D. 16

I A is the brother of B: B is the sister of C; and C is the father of D, how D is
related to A‘? _
A. Brother B. Sister C. Nephew D. Cannet be

determined

F{}_r Que 16 to 20

‘Study the following table and answer the questions based on it.



fxsenditures of a Company {in Lakh Rupees) per Annum Over the given Years,

Item of Expenditure
fuel and Interesi on

Years Salary Transpor! Boaus i.oans Taxes

1998 288 a8 3.00 23.4 83

1999 342 b2 2.52 32.5 108
2000 | 324 | MO0 3.84 41.6 74

2001 336 133 3.68 36.4 88

2002 420 142 3.96 494 98

16  What is the average amount of interest per year which the company had to pay
during this period?
A. Rs. 32.43 lakhs B. Rs. 33.72 lakhs
C. Rs. 34.18 lakhs D. Rs. 36.66 lakhs

17 The total amount of bonus paid by the company during the given period is
approximately what percent of the total amount of salary paid during this
period?
A 0.1% B. 0.5% C. 1% D. 1.25%

18 Total expenditure on all these items in 1998 was approximately what percent of

the total expenditure in 2002?

A.62% B. 66% C. 69% D. 71%

19 The total expenditure of the company over these items during the ycar 2000 is?
A. Rs. 544.44 lakhs B. Rs. 501.11 lakhs
C. Rs. 446.46 lakhs ' D. Rs. 478.87 lakhs

20 The ratio between the total expenditure on Taxes for all the years and the total
expenditure on Fuel and Transport for all the years respectively is
approximately?

A 47 B. 10:13 o CoIs8 D, 5:8 -

COT 0.)




21

22

23

24

[
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ForQue2l to25 ..

Study the bar chart and answer the question based on it.

Production of Fortilizers by a Company (in 1600 tonnes) Over the Years

40

1998 199% 2000 2001 2002

What was the percentage decline in the production of fertilizers from 1997 to
199872
A, 33(1/3% B. 20% C.25% D. 2%

The average production of 1996-and 1997 was exactly equal to the average

production of which of the followin g pairs of years?

A. 2000 and B. 1999 and 2000 C. 1998 and 2000 D. 1995 and 2001
2001

What was the percentage increase in production of fertilizers in 2002 compared
to that in 19957 |

AL 320% B.300% C.220% o DL200%

- In which year was the percentage increase in production.as compared to the

previous year the maximum? .

A. 2002 B. 2001 C. 1997 D. 1996

[n how many of the given vears was the production of fertilizers more than the
average production of the given years?

Al B.2 C. D. 4

[WPR]
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For Que 26 to 30
The following pie-chart shows the percentage distribution of the

expenditure incurred in publishing a book. Study the pie-chart.and the

_ anqwu the questlonq based on it.

‘aricus Expeaditures {in puwnta"c} lncurred in Publishing & Book

Pramotion Cost

10% Transportation
' Cost
~10%

If for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing

cost, then what will be amount of royalty to be paid for these booksﬂ

‘AL Rs. 19,450 B. Rs. 21,200 C. Rs. 22,950 D Rs. 26, ISO

What is the central angle of the sector coucspondm g to the bhpLﬂdltUlC incurred
on Royaity _ _ o y '
A 150 B.24° C. 54° S Do4ge

“The prlce of the book is marked 20% above the C.P. If lhe marked pnce of the

| book is Rs. 180, then what is the cost of the pape1 used in a smg.Je copy of the

book? _

ARs.36 0 B.Rs.37.50 C. Rs. 42 D. Rs. 44.25

It ‘3500 copieq cue pubilshed and the Uanspmtatlon cost on them amounts to Rs.
82500, then what 5hould be the selling price of the book so that the publisher

can earn a profit of 25%7

A. Rs, 187.50 B. Rs. 191.50 C.Rs. 175 D. Rs. 180
Royalty on the book is less than the printing cost by:
A.53% B. C. 20% D.25%
|
3. 0%
5 .
CP.T.0)
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For Que 31 to 35

The world dismisses curiosity by calling it idle or mere idie curiosity cven
though. curious persons are seldom idle. Parents do their best to extinguish
curiosity in their children because it makes life difficult to be faced
everyday with a string of unanswerable questions about what makes fire
hot or why grass grows. Children whose curiosity survives parental
discipline are invited to join our university. With the university, they go on
asking their questions and trying to find the answers. In the eyes of a
scholar, that is what a umvers:ty for. Some of the questmns which the
scholars ask scem to the world to be. scarteiy worth askmg, let alone
answering. they asked questions too minuie and Speuailzcd for you and me
to understand wnhout years of e\planatmn If the wu:ld mqums of one of
them why he wants to know the answer to a partlcular questlon he may say
especially if he is a suentzst, that the answer w:ll in.:some obscure way make
possible a new machine or weapon or onget ‘He talks that way beeause he
knows that the world understands and respects utility,

But to you who are now part of the tmiveréity, e will say that he wants to
know the answer simply because he does not know it, the way the mountain
climber wants to climb a mountain, simply because it is there, Similarly a
historian asked by an outsider why he studies history may come out with
the argument that he has learnt to respect to report on suchpccasions,
something about knowledge of the past making it possible to understand
the present and mould the future. But if you really want to know why a
historian studies the past, the answer is much simpler, something happened
and he would like to know what. All this docs not mean that the answers
which scholars to find to their enormous consequences but these seldom
form the reason for asking the question or pursuing the answers. It is true
that scholars can be put to work answering questions for sake of the
conscquences as thousands are working now, for example, in search of a
cure for cancer. But this is not the primary scholars. For the consequences
are usually subordinate to the satisfaction of curiosity.

Children whose curiosity survives parental discipline means
A. children retaining their curiosity in spite of being discouraged by their
parents
B. children pursuing their mental curiosity
children's curiosity subdued due to parents intervention

D. children being disciplined by their parents

[15]
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According to their passage, the children make life difficult for their parents
A. by their ceaseless curiosity
B. by unceasing bombardment of questions
C. by asking irrelevant questions
D. by posing profound questions
The'common people consider some of the questions that the scholars ask
unimportant
A. as they are too lazy and idle
“B. as they are too modest
C. as it's beyond their comprehension
D. as it is considered a waste of time
A historian really studies the past
A. to comprehend the present and to reconstruct the future
B. to explain the present and plan the future
C. to understand the present and make fortune -
D. to understand the present and mould the future
According to their passage, parents do their best to discourage curiosity in their
children
A. because they have no time
B. because they have no patience to answer them
C. because they feel that their children ask stupid questions continuously
D. because they are unable to answer all the questions
For Que 36 to 40
The following the questions choose the word which best expresses the

similar meaning of the given word.

BROWSE

A. Heal B. Deceive C. Examine D. Strike
INFREQUENT

A. Never B. Usual C. Rare . Sometimes
RESTRAINT

A. Hindrance B. Repression C. Obstacle D. Restriction

CRT 09
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40

41

43

44

DEIFY

A. Flatter B. Challenge C. Worship D. Face
HARBINGER
A. Messenger B. Steward C. Forerunner D. Pilot

For Que 41 to 45
In the following questions choose the word which is the exact OPPOSITE of

the given words.

ARROGANT :

A. Humble B. Cowardly C. Egotistic D..Gentlemanly
VICTORIOUS

A. Defeated B. Annexed C. Destroyed 1D, Vanquished
GRACEFUL

A. Rough ' B. Expert C. Miserable - D._Awkward
NADIR

A. Modernity B. Zenith - C. Liberty . Progress
EXTRAVAGANCE '

A. Luxury’ - B. Poverty C. Economical - D. Cheapness

x._________.—-
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NOTE:

0.1

Q.1

o

6

Each MCQ carries one mark.

What ts Reasoning Ability? Explain the main types of reasoning ability in detail.

Explain importance of aptitude.

OR

Marks: 60

[08]
o)

What is entrance examination, list out the name of entrance examination and [15]

explain any one of them in detail.

Look at this series: 36, 34, 30, 28, 24, ... What number shouid come nc‘(t?

A.20 B.22 C.23 D. 76

Look at this series: 14, 28 20, 40, 32, 64, ... What number sljould come next?
A 52 .B 56.7 C. 96 D. 128

Wlmh wo:d does NOT belong with the othem’ B

A.LOULh B. rug C. tab]e o D. chair

JAK, KBL, LCM,MDN,

A, OCP B. NEO C. MEN D. PFQ

BCB, DED. FGF, HIH, -

AL JK] B .l D.JHI

A. P, R X, S and Z are sitting in a row. S and Z are in the centre. A and P are at
the ends R is sitting to the left of A. Who is to the right of P ?

A A B. X C.S D.Z

For gque 7 and 8

Six fr ;Lnds are sitting in a circle and are facing the Leut:e 01 thc urcle
Deepa is b(,tween Prakash .md Panka; Priti is betweua Mukcsh .md Lallt

Prakash and Mukesh are opposite to each other.

(P T.0)

{15]
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10

11

12

13

14

o
h

Who is sitting right to Prakash ?

A. Mukesh B. Deepa C.Pankaj . D.Lalit
Who are the neighbours of Mukesh ?

A. Prakash and Deepa ‘ - B. Deepa and Priti

C. Priti and Pankaj 7 D, Lalit and Priti

From the following choose correct spelling.

A. Acommodation B. Accomodaton

C. Accommodation D. Acomodation

FILTER:WATER

AL curtail:activity 3. expunge:book

C. edit:text D. censor:play
LIGHT:BLIND |

A. speech:dumb B. language:deaf

C. tongue:sound D. voice:vibration

To beg the question

A.To refer to B. To take for granted
C.To raiée objections ' D. To be di:scussed

A person of good understanding knowledge and reasoning power

A. Expert B. Intellectual C.Snob D. Literate
Which number is suitable for M+C-F?
A 10 B.9 C. 11 D. 16

I A is the brother of B: B is the sister of C; and C is the father of D, how D is
related to A‘? _
A. Brother B. Sister C. Nephew D. Cannet be

determined

F{}_r Que 16 to 20

‘Study the following table and answer the questions based on it.



fxsenditures of a Company {in Lakh Rupees) per Annum Over the given Years,

Item of Expenditure
fuel and Interesi on

Years Salary Transpor! Boaus i.oans Taxes

1998 288 a8 3.00 23.4 83

1999 342 b2 2.52 32.5 108
2000 | 324 | MO0 3.84 41.6 74

2001 336 133 3.68 36.4 88

2002 420 142 3.96 494 98

16  What is the average amount of interest per year which the company had to pay
during this period?
A. Rs. 32.43 lakhs B. Rs. 33.72 lakhs
C. Rs. 34.18 lakhs D. Rs. 36.66 lakhs

17 The total amount of bonus paid by the company during the given period is
approximately what percent of the total amount of salary paid during this
period?
A 0.1% B. 0.5% C. 1% D. 1.25%

18 Total expenditure on all these items in 1998 was approximately what percent of

the total expenditure in 2002?

A.62% B. 66% C. 69% D. 71%

19 The total expenditure of the company over these items during the ycar 2000 is?
A. Rs. 544.44 lakhs B. Rs. 501.11 lakhs
C. Rs. 446.46 lakhs ' D. Rs. 478.87 lakhs

20 The ratio between the total expenditure on Taxes for all the years and the total
expenditure on Fuel and Transport for all the years respectively is
approximately?

A 47 B. 10:13 o CoIs8 D, 5:8 -

COT 0.)
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23

24
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ForQue2l to25 ..

Study the bar chart and answer the question based on it.

Production of Fortilizers by a Company (in 1600 tonnes) Over the Years

40

1998 199% 2000 2001 2002

What was the percentage decline in the production of fertilizers from 1997 to
199872
A, 33(1/3% B. 20% C.25% D. 2%

The average production of 1996-and 1997 was exactly equal to the average

production of which of the followin g pairs of years?

A. 2000 and B. 1999 and 2000 C. 1998 and 2000 D. 1995 and 2001
2001

What was the percentage increase in production of fertilizers in 2002 compared
to that in 19957 |

AL 320% B.300% C.220% o DL200%

- In which year was the percentage increase in production.as compared to the

previous year the maximum? .

A. 2002 B. 2001 C. 1997 D. 1996

[n how many of the given vears was the production of fertilizers more than the
average production of the given years?

Al B.2 C. D. 4

[WPR]



26

27

28

30

For Que 26 to 30
The following pie-chart shows the percentage distribution of the

expenditure incurred in publishing a book. Study the pie-chart.and the

_ anqwu the questlonq based on it.

‘aricus Expeaditures {in puwnta"c} lncurred in Publishing & Book

Pramotion Cost

10% Transportation
' Cost
~10%

If for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing

cost, then what will be amount of royalty to be paid for these booksﬂ

‘AL Rs. 19,450 B. Rs. 21,200 C. Rs. 22,950 D Rs. 26, ISO

What is the central angle of the sector coucspondm g to the bhpLﬂdltUlC incurred
on Royaity _ _ o y '
A 150 B.24° C. 54° S Do4ge

“The prlce of the book is marked 20% above the C.P. If lhe marked pnce of the

| book is Rs. 180, then what is the cost of the pape1 used in a smg.Je copy of the

book? _

ARs.36 0 B.Rs.37.50 C. Rs. 42 D. Rs. 44.25

It ‘3500 copieq cue pubilshed and the Uanspmtatlon cost on them amounts to Rs.
82500, then what 5hould be the selling price of the book so that the publisher

can earn a profit of 25%7

A. Rs, 187.50 B. Rs. 191.50 C.Rs. 175 D. Rs. 180
Royalty on the book is less than the printing cost by:
A.53% B. C. 20% D.25%
|
3. 0%
5 .
CP.T.0)
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For Que 31 to 35

The world dismisses curiosity by calling it idle or mere idie curiosity cven
though. curious persons are seldom idle. Parents do their best to extinguish
curiosity in their children because it makes life difficult to be faced
everyday with a string of unanswerable questions about what makes fire
hot or why grass grows. Children whose curiosity survives parental
discipline are invited to join our university. With the university, they go on
asking their questions and trying to find the answers. In the eyes of a
scholar, that is what a umvers:ty for. Some of the questmns which the
scholars ask scem to the world to be. scarteiy worth askmg, let alone
answering. they asked questions too minuie and Speuailzcd for you and me
to understand wnhout years of e\planatmn If the wu:ld mqums of one of
them why he wants to know the answer to a partlcular questlon he may say
especially if he is a suentzst, that the answer w:ll in.:some obscure way make
possible a new machine or weapon or onget ‘He talks that way beeause he
knows that the world understands and respects utility,

But to you who are now part of the tmiveréity, e will say that he wants to
know the answer simply because he does not know it, the way the mountain
climber wants to climb a mountain, simply because it is there, Similarly a
historian asked by an outsider why he studies history may come out with
the argument that he has learnt to respect to report on suchpccasions,
something about knowledge of the past making it possible to understand
the present and mould the future. But if you really want to know why a
historian studies the past, the answer is much simpler, something happened
and he would like to know what. All this docs not mean that the answers
which scholars to find to their enormous consequences but these seldom
form the reason for asking the question or pursuing the answers. It is true
that scholars can be put to work answering questions for sake of the
conscquences as thousands are working now, for example, in search of a
cure for cancer. But this is not the primary scholars. For the consequences
are usually subordinate to the satisfaction of curiosity.

Children whose curiosity survives parental discipline means
A. children retaining their curiosity in spite of being discouraged by their
parents
B. children pursuing their mental curiosity
children's curiosity subdued due to parents intervention

D. children being disciplined by their parents

[15]
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According to their passage, the children make life difficult for their parents
A. by their ceaseless curiosity
B. by unceasing bombardment of questions
C. by asking irrelevant questions
D. by posing profound questions
The'common people consider some of the questions that the scholars ask
unimportant
A. as they are too lazy and idle
“B. as they are too modest
C. as it's beyond their comprehension
D. as it is considered a waste of time
A historian really studies the past
A. to comprehend the present and to reconstruct the future
B. to explain the present and plan the future
C. to understand the present and make fortune -
D. to understand the present and mould the future
According to their passage, parents do their best to discourage curiosity in their
children
A. because they have no time
B. because they have no patience to answer them
C. because they feel that their children ask stupid questions continuously
D. because they are unable to answer all the questions
For Que 36 to 40
The following the questions choose the word which best expresses the

similar meaning of the given word.

BROWSE

A. Heal B. Deceive C. Examine D. Strike
INFREQUENT

A. Never B. Usual C. Rare . Sometimes
RESTRAINT

A. Hindrance B. Repression C. Obstacle D. Restriction

CRT 09
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43

44

DEIFY

A. Flatter B. Challenge C. Worship D. Face
HARBINGER
A. Messenger B. Steward C. Forerunner D. Pilot

For Que 41 to 45
In the following questions choose the word which is the exact OPPOSITE of

the given words.

ARROGANT :

A. Humble B. Cowardly C. Egotistic D..Gentlemanly
VICTORIOUS

A. Defeated B. Annexed C. Destroyed 1D, Vanquished
GRACEFUL

A. Rough ' B. Expert C. Miserable - D._Awkward
NADIR

A. Modernity B. Zenith - C. Liberty . Progress
EXTRAVAGANCE '

A. Luxury’ - B. Poverty C. Economical - D. Cheapness

x._________.—-
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